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Q.No: 1 सीखने के दौरान ब�े ब�त-सी गलितयाँ करते ह� �ो�ंिक _________

A
उ�� गलितयाँ करना अ�ा लगता है

B
उ�� सीखना नही ंआता है

C
गलितयाँ उनके सीखने की �ि�या का अिभ� अंग ह�, गलितयाँ करके ही वे सीखते है।

D वह गलितयां सुधारते नही ंह�

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 2 ब�े भाषा सीखने की �मता के साथ पैदा होते ह�। मु�तः िकसका िवचार है-

A एल.एस.वाइगो�की

B ईवाम पाॅवलाॅव

C नाॅजोम चाॅ��ी

D जीनिपयाजे

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 3 नाटक, िसनेमा, प�रचचा�, वाद-िववाद इ�ािद ब�ो ंकी .......... व �ाभािवक, .............. एवं ................. �िति�या �� करने की �मता का िवकास करने म� मदद करते ह�।

A �त�, मौ�खक, िल�खत

B �त�, �भावी, सं�ृतिन�

C मानक, सहज, �भावी

D मानक, �भावी, सं�ृतिन�

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 4 �ाथिमक �र पर आप िकस तरह का बाल-सािह� उिचत समझते ह�?

A केवल कहािनयाँ

B ऐसा सािह� जो �िस� सािह�कारो ं�ारा िलखा गया हो

C ऐसा सािह� िजसम� श�ो ंऔर घटनाओ ंका दोहराव हो

D केवल किवताएँ

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 5 िन� न म� से भाषा के बारे म� कौन सा कथन उिचत है?

A भाषा � याकरण का अनुसार नही करती है। 

B भाषा एक िनयमब� �व�था नही ंहै।

C भाषा पूण�त: िल�खत होती है। 

D भाषा एक िनयमब� �व�था है।

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 6 िन� न म� से िहंदी िश�ण म� उपल�� की जांच _______________की जा सकती है।

ी

े
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A अनुवाद परी�ण से   

B उपल�� परी�ण से   

C शैि�क �� नो ंसे 

D व� तुिन� ठ परी�ण से   

Correct Ans : B

Subject : Hindi Bhasha 01

 
 

Q.No: 7 ‘जब िश�क �ारा हाथ म� पु�क लेकर वाचन कराया जाता है’, तो उसे िन� न म� से कौन-सा वाचन कहते ह�?

A आदश� वाचन

B मौन वाचन 

C संबध�न वाचन 

D सदवृित वाचन 

Correct Ans : A

Subject : Hindi Bhasha 01

 
 

Q.No: 8 िन� निल�खत म� से भाषा िकसका साधन है?

A भावािभ� य�� का

B संवेदना का 

C सहानुभूित का 

D लेखन का 

Correct Ans : A

Subject : Hindi Bhasha 01

 
 

Q.No: 9 क�ा म� आप एक भाषा िश�क के �प म� िकस बात पर अिधक मह� द��ग?े

A पा�-पु�क के ��ेक पाठ को भली-भांित समझाना

B ब�ो ंको भाषा �योग के अिधक से अिधक अवसर देना

C �यं शु� भाषा- �योग

D ब�ो ंको �ाकरण िसखाना

Correct Ans : B

Subject : Hindi Bhasha 01

 
 

Q.No: 10 भाषा िश�ण की अनुवाद िविध

A मातृभाषा को म��थ बनाती है

B मातृभाषा को म��थ नही ंबनाती है

C मातृभाषा की अपे�ा करती है

D ल� भाषा को ही �े� िस� करती है

Correct Ans : A

Subject : Hindi Bhasha 01

 
 

Q.No: 11 िह�ी (भाषा) िवषय के �ि�कोण से शु� लेखन का घिन� संबंध है

A उ�ारण की शु�ता से

B अशु� उ�ारण से

C �ाकरिणक िनयम की अनिभ�ता से

D संुदर िलखावट से

Correct Ans : A

Subject : Hindi Bhasha 01

 
 

Q.No: 12 िन�िल�खत म� से मं�णा और तक�  िविधयो ंका स��िलत �प ह�

A समवाय िविध

B िनद� �श िविध

C आदश� िविध

D   �ा�ाय िविध

Correct Ans : D

Subject : Hindi Bhasha 01
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Q.No: 13 किवता िश�ण म� गित �णाली का �योग िकस �र पर करना सवा�िधक उपयोगी होता है?

A उ� क�ा �र

B �ाथिमक क�ा �र

C उ�तर मा�िमक क�ा �र

D मा�िमक क�ा �र

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 14 पाठ पढ़ने-पढ़ाने के बाद िकस तरह के सवाल ब�ो ंकी समझ का मू�ांकन करने म� सहायक नही ंहोते?

A ‘�ो’ं, ‘कैसे’ वाले ��

B ‘�ा’ िश�ा िमली है। वाले ��

C पढ़े गए पाठ से जोड़ते �ए अपने िनजी अनुभवो ंको �� करने वाले ��।

D ‘यिद-तो’ वाले ��

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

िनद� �श: नीचे िदए गए ग�ांश को पढ़कर पूछे गए �� नो के सबसे उिचत उ� तर वाले िवक� प का चयन कीिजए- 

बूढ़ी अ� मा आज ब�त खुश है; � यो�ंिक उसका पोता (बेटू) अपने मां बाप के साथ उसके पास आ रही है। वह सरदी म� भी आंगन लीपने लग जाती है। वह यह बेटू के आने के समाचार अपनी पड़ोसन नव�दा को भी सुना
देती है। बूढ़ी अ� मा बेटू को लेकर मनोहर क� पनाओ ंम� खो जाती है उसे अपने बेटे रामे� वर का बचपन याद हो आता है। काम के कारण उसके घुटने जुड़ जाते ह� तो नव�दा उसे सहारा देकर उठाती है। पूरे तीन वष� बाद
उसका बेटा गांव आ रहा है। 

      तभी दूर से घोड़ो ंके घँुघ�ओ ंकी आवाज आई और तांगा अ� मा के घर के सामने �का। अ� मा पागलो ंकी तरह दरवाजे की और भागी और बेटू को रामे� वर की गोद से झपट िलया। ब� चा अ� यािधक � यार के कारण
बेचैन-सा हो गया। ब� ने अ� मा से कहा—इस बार बेटू को आप ही रख��गी । जैसे भी हो म� यहॉं �ँ तब तक उसे अपने से िहला लीिजए। अ� मा को उसके �� ताव पर सहसा िव� वास नही ं�आ। वे अ� यिधक �स� नता म� रो
पडी।ं उसे लगा िक अब उसका ज� म सफल हो जाएगा। सभी लोगो ंको यह खबर सुना दी गई। बालक की नजर उतारी गई। अम् मा घुटनो ंम� दद� के बावजूद अपने बेटू को लादे िफरती थी। बेटू के साथ उसका बचपन भी
लौट आया। बीस िदन बाद ब� अपनी मॉं के घर गई तो बेटू ने न तो िजद की और न ही वह रोया। अ� मा ने िनि�ंतता की सांस ली। महीना बीतते-बीतते खबर आई िक ब� को दूसरा भी लड़का ही �आ है। अ� मा का संशय
भी दूर हो गया। उसे लगा िक अब बेटू पूरी तरह उसी का है। रामे� वर के जाते समय अ� मा ने उससे हर साल आने का वायदा तो िलया। दूसरे साल रामे� वर तो न आया, पर रमा आई। वह बेटू को देखने आई थी। अब बेटू
िज�ी बन गया था। वह अ� मा के हाथ से ही खात◌ा और उनके दोनो ंअगंूठे पकड़कर सोता। इस ��थित को देखकर रमा का माथा ठनक गया। उसने अ� मा से िशकायत भी की िक आपने तो इसे िबगाड़ रखा है। अ� मा ने
िशकायत को हंसी म� टाल िदया। रमा चाहकर भी बेटू को अपने साथ मंुबई न ले जा सकी, � यो�ंिक एक साल का प� पू ही उसे ब�त परेशान करता था। प�ो�ंपर खरी-खरी बात� िलखना शु� हो गया। 

Q.No: 15 उपयु�� त ग�ांश के अनुसार बूढ़ी अ� मा का बेटे िकतने समय बाद गांव आ रहा है?

A 20 िदन 

B पॉंच वष�

C एक वष�

D तीन वष�

Correct Ans : D

Subject : Hindi Bhasha 01

Passage:

िनद� �श: नीचे िदए गए ग�ांश को पढ़कर पूछे गए �� नो के सबसे उिचत उ� तर वाले िवक� प का चयन कीिजए- 

बूढ़ी अ� मा आज ब�त खुश है; � यो�ंिक उसका पोता (बेटू) अपने मां बाप के साथ उसके पास आ रही है। वह सरदी म� भी आंगन लीपने लग जाती है। वह यह बेटू के आने के समाचार अपनी पड़ोसन नव�दा को भी सुना
देती है। बूढ़ी अ� मा बेटू को लेकर मनोहर क� पनाओ ंम� खो जाती है उसे अपने बेटे रामे� वर का बचपन याद हो आता है। काम के कारण उसके घुटने जुड़ जाते ह� तो नव�दा उसे सहारा देकर उठाती है। पूरे तीन वष� बाद
उसका बेटा गांव आ रहा है। 

      तभी दूर से घोड़ो ंके घँुघ�ओ ंकी आवाज आई और तांगा अ� मा के घर के सामने �का। अ� मा पागलो ंकी तरह दरवाजे की और भागी और बेटू को रामे� वर की गोद से झपट िलया। ब� चा अ� यािधक � यार के कारण
बेचैन-सा हो गया। ब� ने अ� मा से कहा—इस बार बेटू को आप ही रख��गी । जैसे भी हो म� यहॉं �ँ तब तक उसे अपने से िहला लीिजए। अ� मा को उसके �� ताव पर सहसा िव� वास नही ं�आ। वे अ� यिधक �स� नता म� रो
पडी।ं उसे लगा िक अब उसका ज� म सफल हो जाएगा। सभी लोगो ंको यह खबर सुना दी गई। बालक की नजर उतारी गई। अम् मा घुटनो ंम� दद� के बावजूद अपने बेटू को लादे िफरती थी। बेटू के साथ उसका बचपन भी
लौट आया। बीस िदन बाद ब� अपनी मॉं के घर गई तो बेटू ने न तो िजद की और न ही वह रोया। अ� मा ने िनि�ंतता की सांस ली। महीना बीतते-बीतते खबर आई िक ब� को दूसरा भी लड़का ही �आ है। अ� मा का संशय
भी दूर हो गया। उसे लगा िक अब बेटू पूरी तरह उसी का है। रामे� वर के जाते समय अ� मा ने उससे हर साल आने का वायदा तो िलया। दूसरे साल रामे� वर तो न आया, पर रमा आई। वह बेटू को देखने आई थी। अब बेटू
िज�ी बन गया था। वह अ� मा के हाथ से ही खात◌ा और उनके दोनो ंअगंूठे पकड़कर सोता। इस ��थित को देखकर रमा का माथा ठनक गया। उसने अ� मा से िशकायत भी की िक आपने तो इसे िबगाड़ रखा है। अ� मा ने
िशकायत को हंसी म� टाल िदया। रमा चाहकर भी बेटू को अपने साथ मंुबई न ले जा सकी, � यो�ंिक एक साल का प� पू ही उसे ब�त परेशान करता था। प�ो�ंपर खरी-खरी बात� िलखना शु� हो गया। 

Q.No: 16 उपयु�� त ग�ांश म� अ� मा को िकस �� ताव पर िव� वास नही ं�आ?

A जब ब� ने अ� मा से कहा—इस बार बेटू को आप नही ंरख��गी। अत: वे इसे अपने साथ लेकर जाएंगी।अ� मा को उसके �� ताव पर सहसा िव� वास नही ं�आ। 

B जब बह◌ू ने अ� मा से कहा—इस बार बेटू को आप ही रख��गी। अत: वे इसे अपने साथ िहला ले। अ� मा को उसके �� ताव पर सहसा िव� वास नही ं�आ। 

C जब रामे� वर ने अ� मा से कहा—इस बार बेटू को आप ही रख��गी। अत: वे इसे अपने साथ िहला ले। अ� मा को उसके �� ताव पर सहसा िव� वास नही ं�आ। 

D जब रामे� वर ने अ� मा से कहा—इस बार बेटू को आप नही ंरख��गी। अत: वे इसे अपने साथ लेकर जाएंगी।अ� मा को उसके �� ताव पर सहसा िव� वास नही ं�आ। 

Correct Ans : B

Subject : Hindi Bhasha 01
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Passage:

िनद� �श: नीचे िदए गए ग�ांश को पढ़कर पूछे गए �� नो के सबसे उिचत उ� तर वाले िवक� प का चयन कीिजए- 

बूढ़ी अ� मा आज ब�त खुश है; � यो�ंिक उसका पोता (बेटू) अपने मां बाप के साथ उसके पास आ रही है। वह सरदी म� भी आंगन लीपने लग जाती है। वह यह बेटू के आने के समाचार अपनी पड़ोसन नव�दा को भी सुना
देती है। बूढ़ी अ� मा बेटू को लेकर मनोहर क� पनाओ ंम� खो जाती है उसे अपने बेटे रामे� वर का बचपन याद हो आता है। काम के कारण उसके घुटने जुड़ जाते ह� तो नव�दा उसे सहारा देकर उठाती है। पूरे तीन वष� बाद
उसका बेटा गांव आ रहा है। 

      तभी दूर से घोड़ो ंके घँुघ�ओ ंकी आवाज आई और तांगा अ� मा के घर के सामने �का। अ� मा पागलो ंकी तरह दरवाजे की और भागी और बेटू को रामे� वर की गोद से झपट िलया। ब� चा अ� यािधक � यार के कारण
बेचैन-सा हो गया। ब� ने अ� मा से कहा—इस बार बेटू को आप ही रख��गी । जैसे भी हो म� यहॉं �ँ तब तक उसे अपने से िहला लीिजए। अ� मा को उसके �� ताव पर सहसा िव� वास नही ं�आ। वे अ� यिधक �स� नता म� रो
पडी।ं उसे लगा िक अब उसका ज� म सफल हो जाएगा। सभी लोगो ंको यह खबर सुना दी गई। बालक की नजर उतारी गई। अम् मा घुटनो ंम� दद� के बावजूद अपने बेटू को लादे िफरती थी। बेटू के साथ उसका बचपन भी
लौट आया। बीस िदन बाद ब� अपनी मॉं के घर गई तो बेटू ने न तो िजद की और न ही वह रोया। अ� मा ने िनि�ंतता की सांस ली। महीना बीतते-बीतते खबर आई िक ब� को दूसरा भी लड़का ही �आ है। अ� मा का संशय
भी दूर हो गया। उसे लगा िक अब बेटू पूरी तरह उसी का है। रामे� वर के जाते समय अ� मा ने उससे हर साल आने का वायदा तो िलया। दूसरे साल रामे� वर तो न आया, पर रमा आई। वह बेटू को देखने आई थी। अब बेटू
िज�ी बन गया था। वह अ� मा के हाथ से ही खात◌ा और उनके दोनो ंअगंूठे पकड़कर सोता। इस ��थित को देखकर रमा का माथा ठनक गया। उसने अ� मा से िशकायत भी की िक आपने तो इसे िबगाड़ रखा है। अ� मा ने
िशकायत को हंसी म� टाल िदया। रमा चाहकर भी बेटू को अपने साथ मंुबई न ले जा सकी, � यो�ंिक एक साल का प� पू ही उसे ब�त परेशान करता था। प�ो�ंपर खरी-खरी बात� िलखना शु� हो गया। 

Q.No: 17 उपयु�� त ग�ांश म�, बेटू को पाकर अ� मा को लगा ___________

A अब उसका समय बबा�द हो जाएगा। वह बेटू को लेकर ब�त सम� याओ ंम� खो जाती है।

B अब उसका ज� म सफल हो जाएगा। वह बेटू को लेकर मनोहर क� पनाओ ंम� खो जाती है।

C अब उसका ज� म सफल नही ंहो पाएगा। वह बेटू को लेकर ब�त िचंितत हो जाती है।

D अब उसका पूरा समय बेटू को संभालने म� खच� हो जाएगा, उसे अपनी दवाई भी समय पर नही ंिमल पाएगी।

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

िनद� �श: नीचे िदए गए ग�ांश को पढ़कर पूछे गए �� नो के सबसे उिचत उ� तर वाले िवक� प का चयन कीिजए- 

बूढ़ी अ� मा आज ब�त खुश है; � यो�ंिक उसका पोता (बेटू) अपने मां बाप के साथ उसके पास आ रही है। वह सरदी म� भी आंगन लीपने लग जाती है। वह यह बेटू के आने के समाचार अपनी पड़ोसन नव�दा को भी सुना
देती है। बूढ़ी अ� मा बेटू को लेकर मनोहर क� पनाओ ंम� खो जाती है उसे अपने बेटे रामे� वर का बचपन याद हो आता है। काम के कारण उसके घुटने जुड़ जाते ह� तो नव�दा उसे सहारा देकर उठाती है। पूरे तीन वष� बाद
उसका बेटा गांव आ रहा है। 

      तभी दूर से घोड़ो ंके घँुघ�ओ ंकी आवाज आई और तांगा अ� मा के घर के सामने �का। अ� मा पागलो ंकी तरह दरवाजे की और भागी और बेटू को रामे� वर की गोद से झपट िलया। ब� चा अ� यािधक � यार के कारण
बेचैन-सा हो गया। ब� ने अ� मा से कहा—इस बार बेटू को आप ही रख��गी । जैसे भी हो म� यहॉं �ँ तब तक उसे अपने से िहला लीिजए। अ� मा को उसके �� ताव पर सहसा िव� वास नही ं�आ। वे अ� यिधक �स� नता म� रो
पडी।ं उसे लगा िक अब उसका ज� म सफल हो जाएगा। सभी लोगो ंको यह खबर सुना दी गई। बालक की नजर उतारी गई। अम् मा घुटनो ंम� दद� के बावजूद अपने बेटू को लादे िफरती थी। बेटू के साथ उसका बचपन भी
लौट आया। बीस िदन बाद ब� अपनी मॉं के घर गई तो बेटू ने न तो िजद की और न ही वह रोया। अ� मा ने िनि�ंतता की सांस ली। महीना बीतते-बीतते खबर आई िक ब� को दूसरा भी लड़का ही �आ है। अ� मा का संशय
भी दूर हो गया। उसे लगा िक अब बेटू पूरी तरह उसी का है। रामे� वर के जाते समय अ� मा ने उससे हर साल आने का वायदा तो िलया। दूसरे साल रामे� वर तो न आया, पर रमा आई। वह बेटू को देखने आई थी। अब बेटू
िज�ी बन गया था। वह अ� मा के हाथ से ही खात◌ा और उनके दोनो ंअगंूठे पकड़कर सोता। इस ��थित को देखकर रमा का माथा ठनक गया। उसने अ� मा से िशकायत भी की िक आपने तो इसे िबगाड़ रखा है। अ� मा ने
िशकायत को हंसी म� टाल िदया। रमा चाहकर भी बेटू को अपने साथ मंुबई न ले जा सकी, � यो�ंिक एक साल का प� पू ही उसे ब�त परेशान करता था। प�ो�ंपर खरी-खरी बात� िलखना शु� हो गया। 

Q.No: 18 उपयु�� त ग�ांश म�, नव�दा कौन थी?

A बूढ़ी अ� मा की ब�। 

B बूढ़ी अ� मा की पड़ोसन। 

C बूढ़ी अ� मा की बेटी। 

D रामे� वर की बेटी।

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

िनद� �श: नीचे िदए गए ग�ांश को पढ़कर पूछे गए �� नो के सबसे उिचत उ� तर वाले िवक� प का चयन कीिजए- 

बूढ़ी अ� मा आज ब�त खुश है; � यो�ंिक उसका पोता (बेटू) अपने मां बाप के साथ उसके पास आ रही है। वह सरदी म� भी आंगन लीपने लग जाती है। वह यह बेटू के आने के समाचार अपनी पड़ोसन नव�दा को भी सुना
देती है। बूढ़ी अ� मा बेटू को लेकर मनोहर क� पनाओ ंम� खो जाती है उसे अपने बेटे रामे� वर का बचपन याद हो आता है। काम के कारण उसके घुटने जुड़ जाते ह� तो नव�दा उसे सहारा देकर उठाती है। पूरे तीन वष� बाद
उसका बेटा गांव आ रहा है। 

      तभी दूर से घोड़ो ंके घँुघ�ओ ंकी आवाज आई और तांगा अ� मा के घर के सामने �का। अ� मा पागलो ंकी तरह दरवाजे की और भागी और बेटू को रामे� वर की गोद से झपट िलया। ब� चा अ� यािधक � यार के कारण
बेचैन-सा हो गया। ब� ने अ� मा से कहा—इस बार बेटू को आप ही रख��गी । जैसे भी हो म� यहॉं �ँ तब तक उसे अपने से िहला लीिजए। अ� मा को उसके �� ताव पर सहसा िव� वास नही ं�आ। वे अ� यिधक �स� नता म� रो
पडी।ं उसे लगा िक अब उसका ज� म सफल हो जाएगा। सभी लोगो ंको यह खबर सुना दी गई। बालक की नजर उतारी गई। अम् मा घुटनो ंम� दद� के बावजूद अपने बेटू को लादे िफरती थी। बेटू के साथ उसका बचपन भी
लौट आया। बीस िदन बाद ब� अपनी मॉं के घर गई तो बेटू ने न तो िजद की और न ही वह रोया। अ� मा ने िनि�ंतता की सांस ली। महीना बीतते-बीतते खबर आई िक ब� को दूसरा भी लड़का ही �आ है। अ� मा का संशय
भी दूर हो गया। उसे लगा िक अब बेटू पूरी तरह उसी का है। रामे� वर के जाते समय अ� मा ने उससे हर साल आने का वायदा तो िलया। दूसरे साल रामे� वर तो न आया, पर रमा आई। वह बेटू को देखने आई थी। अब बेटू
िज�ी बन गया था। वह अ� मा के हाथ से ही खात◌ा और उनके दोनो ंअगंूठे पकड़कर सोता। इस ��थित को देखकर रमा का माथा ठनक गया। उसने अ� मा से िशकायत भी की िक आपने तो इसे िबगाड़ रखा है। अ� मा ने
िशकायत को हंसी म� टाल िदया। रमा चाहकर भी बेटू को अपने साथ मंुबई न ले जा सकी, � यो�ंिक एक साल का प� पू ही उसे ब�त परेशान करता था। प�ो�ंपर खरी-खरी बात� िलखना शु� हो गया। 

Q.No: 19 िन� निल�खत म� से िकस वा� य म� �� नवाचक सव�नाम का �योग िकया गया है?

A म� तो अपने आप ही आता था। 

B तु� ह� � या हो गया है?

C जो देता है सो लेता है। 

D

https://applink.adda247.com/d/XhqWf9lSap
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वे अ� छे लोग नही ंहै। Correct Ans : B

Subject : Hindi Bhasha 01

 
 

Passage:

िनद� �श: नीचे िदए गए ग�ांश को पढ़कर पूछे गए �� नो के सबसे उिचत उ� तर वाले िवक� प का चयन कीिजए- 

बूढ़ी अ� मा आज ब�त खुश है; � यो�ंिक उसका पोता (बेटू) अपने मां बाप के साथ उसके पास आ रही है। वह सरदी म� भी आंगन लीपने लग जाती है। वह यह बेटू के आने के समाचार अपनी पड़ोसन नव�दा को भी सुना
देती है। बूढ़ी अ� मा बेटू को लेकर मनोहर क� पनाओ ंम� खो जाती है उसे अपने बेटे रामे� वर का बचपन याद हो आता है। काम के कारण उसके घुटने जुड़ जाते ह� तो नव�दा उसे सहारा देकर उठाती है। पूरे तीन वष� बाद
उसका बेटा गांव आ रहा है। 

      तभी दूर से घोड़ो ंके घँुघ�ओ ंकी आवाज आई और तांगा अ� मा के घर के सामने �का। अ� मा पागलो ंकी तरह दरवाजे की और भागी और बेटू को रामे� वर की गोद से झपट िलया। ब� चा अ� यािधक � यार के कारण
बेचैन-सा हो गया। ब� ने अ� मा से कहा—इस बार बेटू को आप ही रख��गी । जैसे भी हो म� यहॉं �ँ तब तक उसे अपने से िहला लीिजए। अ� मा को उसके �� ताव पर सहसा िव� वास नही ं�आ। वे अ� यिधक �स� नता म� रो
पडी।ं उसे लगा िक अब उसका ज� म सफल हो जाएगा। सभी लोगो ंको यह खबर सुना दी गई। बालक की नजर उतारी गई। अम् मा घुटनो ंम� दद� के बावजूद अपने बेटू को लादे िफरती थी। बेटू के साथ उसका बचपन भी
लौट आया। बीस िदन बाद ब� अपनी मॉं के घर गई तो बेटू ने न तो िजद की और न ही वह रोया। अ� मा ने िनि�ंतता की सांस ली। महीना बीतते-बीतते खबर आई िक ब� को दूसरा भी लड़का ही �आ है। अ� मा का संशय
भी दूर हो गया। उसे लगा िक अब बेटू पूरी तरह उसी का है। रामे� वर के जाते समय अ� मा ने उससे हर साल आने का वायदा तो िलया। दूसरे साल रामे� वर तो न आया, पर रमा आई। वह बेटू को देखने आई थी। अब बेटू
िज�ी बन गया था। वह अ� मा के हाथ से ही खात◌ा और उनके दोनो ंअगंूठे पकड़कर सोता। इस ��थित को देखकर रमा का माथा ठनक गया। उसने अ� मा से िशकायत भी की िक आपने तो इसे िबगाड़ रखा है। अ� मा ने
िशकायत को हंसी म� टाल िदया। रमा चाहकर भी बेटू को अपने साथ मंुबई न ले जा सकी, � यो�ंिक एक साल का प� पू ही उसे ब�त परेशान करता था। प�ो�ंपर खरी-खरी बात� िलखना शु� हो गया। 

Q.No: 20 िन� निल�खत म� से अशु� श� द का चयन कीिजए- 

A ऋ� वेद 

B �ान 

C अिभराम 

D कंकण 

Correct Ans : B

Subject : Hindi Bhasha 01

 
 

Passage:

िनद� �श: नीचे िदए गए ग�ांश को पढ़कर पूछे गए �� नो के सबसे उिचत उ� तर वाले िवक� प का चयन कीिजए- 

बूढ़ी अ� मा आज ब�त खुश है; � यो�ंिक उसका पोता (बेटू) अपने मां बाप के साथ उसके पास आ रही है। वह सरदी म� भी आंगन लीपने लग जाती है। वह यह बेटू के आने के समाचार अपनी पड़ोसन नव�दा को भी सुना
देती है। बूढ़ी अ� मा बेटू को लेकर मनोहर क� पनाओ ंम� खो जाती है उसे अपने बेटे रामे� वर का बचपन याद हो आता है। काम के कारण उसके घुटने जुड़ जाते ह� तो नव�दा उसे सहारा देकर उठाती है। पूरे तीन वष� बाद
उसका बेटा गांव आ रहा है। 

      तभी दूर से घोड़ो ंके घँुघ�ओ ंकी आवाज आई और तांगा अ� मा के घर के सामने �का। अ� मा पागलो ंकी तरह दरवाजे की और भागी और बेटू को रामे� वर की गोद से झपट िलया। ब� चा अ� यािधक � यार के कारण
बेचैन-सा हो गया। ब� ने अ� मा से कहा—इस बार बेटू को आप ही रख��गी । जैसे भी हो म� यहॉं �ँ तब तक उसे अपने से िहला लीिजए। अ� मा को उसके �� ताव पर सहसा िव� वास नही ं�आ। वे अ� यिधक �स� नता म� रो
पडी।ं उसे लगा िक अब उसका ज� म सफल हो जाएगा। सभी लोगो ंको यह खबर सुना दी गई। बालक की नजर उतारी गई। अम् मा घुटनो ंम� दद� के बावजूद अपने बेटू को लादे िफरती थी। बेटू के साथ उसका बचपन भी
लौट आया। बीस िदन बाद ब� अपनी मॉं के घर गई तो बेटू ने न तो िजद की और न ही वह रोया। अ� मा ने िनि�ंतता की सांस ली। महीना बीतते-बीतते खबर आई िक ब� को दूसरा भी लड़का ही �आ है। अ� मा का संशय
भी दूर हो गया। उसे लगा िक अब बेटू पूरी तरह उसी का है। रामे� वर के जाते समय अ� मा ने उससे हर साल आने का वायदा तो िलया। दूसरे साल रामे� वर तो न आया, पर रमा आई। वह बेटू को देखने आई थी। अब बेटू
िज�ी बन गया था। वह अ� मा के हाथ से ही खात◌ा और उनके दोनो ंअगंूठे पकड़कर सोता। इस ��थित को देखकर रमा का माथा ठनक गया। उसने अ� मा से िशकायत भी की िक आपने तो इसे िबगाड़ रखा है। अ� मा ने
िशकायत को हंसी म� टाल िदया। रमा चाहकर भी बेटू को अपने साथ मंुबई न ले जा सकी, � यो�ंिक एक साल का प� पू ही उसे ब�त परेशान करता था। प�ो�ंपर खरी-खरी बात� िलखना शु� हो गया। 

Q.No: 21 िन� निल�खत म� से ‘इित’ का िवलोम श� द � या है?

A यथाथ� 

B िनण�य 

C आरंभ

D तृ� णा 

Correct Ans : C

Subject : Hindi Bhasha 01

 
 

Passage:

िनद� �श: नीचे िदए गए ग�ांश को पढ़कर पूछे गए �� नो के सबसे उिचत उ� तर वाले िवक� प का चयन कीिजए- 

बूढ़ी अ� मा आज ब�त खुश है; � यो�ंिक उसका पोता (बेटू) अपने मां बाप के साथ उसके पास आ रही है। वह सरदी म� भी आंगन लीपने लग जाती है। वह यह बेटू के आने के समाचार अपनी पड़ोसन नव�दा को भी सुना
देती है। बूढ़ी अ� मा बेटू को लेकर मनोहर क� पनाओ ंम� खो जाती है उसे अपने बेटे रामे� वर का बचपन याद हो आता है। काम के कारण उसके घुटने जुड़ जाते ह� तो नव�दा उसे सहारा देकर उठाती है। पूरे तीन वष� बाद
उसका बेटा गांव आ रहा है। 

      तभी दूर से घोड़ो ंके घँुघ�ओ ंकी आवाज आई और तांगा अ� मा के घर के सामने �का। अ� मा पागलो ंकी तरह दरवाजे की और भागी और बेटू को रामे� वर की गोद से झपट िलया। ब� चा अ� यािधक � यार के कारण
बेचैन-सा हो गया। ब� ने अ� मा से कहा—इस बार बेटू को आप ही रख��गी । जैसे भी हो म� यहॉं �ँ तब तक उसे अपने से िहला लीिजए। अ� मा को उसके �� ताव पर सहसा िव� वास नही ं�आ। वे अ� यिधक �स� नता म� रो
पडी।ं उसे लगा िक अब उसका ज� म सफल हो जाएगा। सभी लोगो ंको यह खबर सुना दी गई। बालक की नजर उतारी गई। अम् मा घुटनो ंम� दद� के बावजूद अपने बेटू को लादे िफरती थी। बेटू के साथ उसका बचपन भी
लौट आया। बीस िदन बाद ब� अपनी मॉं के घर गई तो बेटू ने न तो िजद की और न ही वह रोया। अ� मा ने िनि�ंतता की सांस ली। महीना बीतते-बीतते खबर आई िक ब� को दूसरा भी लड़का ही �आ है। अ� मा का संशय
भी दूर हो गया। उसे लगा िक अब बेटू पूरी तरह उसी का है। रामे� वर के जाते समय अ� मा ने उससे हर साल आने का वायदा तो िलया। दूसरे साल रामे� वर तो न आया, पर रमा आई। वह बेटू को देखने आई थी। अब बेटू
िज�ी बन गया था। वह अ� मा के हाथ से ही खात◌ा और उनके दोनो ंअगंूठे पकड़कर सोता। इस ��थित को देखकर रमा का माथा ठनक गया। उसने अ� मा से िशकायत भी की िक आपने तो इसे िबगाड़ रखा है। अ� मा ने
िशकायत को हंसी म� टाल िदया। रमा चाहकर भी बेटू को अपने साथ मंुबई न ले जा सकी, � यो�ंिक एक साल का प� पू ही उसे ब�त परेशान करता था। प�ो�ंपर खरी-खरी बात� िलखना शु� हो गया। 

Q.No: 22 उपयु�� त ग�ांश के अनुसार, िन� न म� से कौन-सा कथन अस� य है?

तीन वष� बाद बढ़ी अ�मा का बेटा गांव आ रहा था।
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A
तीन वष बाद बूढ़ी अ  मा का बटा गाव आ रहा था।

B ब� ने अ� मा से कहा—इस बार बेटू को आप ही रख��गी । जैसे भी हो म� यहॉं �ँ तब तक उसे अपने से िहला लीिजए।

C चािलस िदन बाद ब� अपनी मॉं के घर गई तो बेटू ने न तो िजद की और न ही वह रोया।

D रामे� वर के जाते समय अ� मा ने उससे हर साल आने का वादा िलया था। दूसरे साल रामे� वर तो न आया, पर रमा आई। वह बेटू को देखने आई थी।

Correct Ans : C

Subject : Hindi Bhasha 01

 
 

Passage:

िनद� �श: का� यांश को पढ़कर पूछे गए �� नो के सबसे उिचत उ� तर वाले िवक� प का चयन कीिजए-

दािमनी दमक, सुरचाप की चमक , �ाम 

घटा की घमक अित घोर घनघोर त�। 

कोिकला, कलापी कल कूजत ह� िजत-ितत 

सीतल है हीतल, समीर झकझोर त�।  

सेनापित आवन कहयो ंहै मनभावन, सु 

ला�ो तरसावन िवरह-जुर जोर तै। 

आयो सखी सावन, मद सरसावन 

ल�ो है बरसावन सिलल च�ँ ओर त�। 

Q.No: 23 ��ुत पं��यो ंम� िकस ऋतु का वण�न �आ है?

A शीत

B �ी� 

C वषा�  

D हेम�

Correct Ans : C

Subject : Hindi Bhasha 01

 
 

Passage:

िनद� �श: का� यांश को पढ़कर पूछे गए �� नो के सबसे उिचत उ� तर वाले िवक� प का चयन कीिजए-

दािमनी दमक, सुरचाप की चमक , �ाम 

घटा की घमक अित घोर घनघोर त�। 

कोिकला, कलापी कल कूजत ह� िजत-ितत 

सीतल है हीतल, समीर झकझोर त�।  

सेनापित आवन कहयो ंहै मनभावन, सु 

ला�ो तरसावन िवरह-जुर जोर तै। 

आयो सखी सावन, मद सरसावन 

ल�ो है बरसावन सिलल च�ँ ओर त�। 

Q.No: 24 िन�िल �खत पं�� म� कौन-सा अलंकार है? 

''कोिकला कलापी कल कुजत है िजत-ितत" 

A अित�ो�� अलंकार

B � लेष अलंकार

C अनु�ास अलंकार 

D यमक अलंकार

Correct Ans : C

Subject : Hindi Bhasha 01

 
 

Passage:

िनद� �श: का� यांश को पढ़कर पूछे गए �� नो के सबसे उिचत उ� तर वाले िवक� प का चयन कीिजए-

दािमनी दमक, सुरचाप की चमक , �ाम 

घटा की घमक अित घोर घनघोर त�। 

कोिकला, कलापी कल कूजत ह� िजत-ितत 

https://applink.adda247.com/d/XhqWf9lSap
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सीतल है हीतल, समीर झकझोर त�।  

सेनापित आवन कहयो ंहै मनभावन, सु 

ला�ो तरसावन िवरह-जुर जोर तै। 

आयो सखी सावन, मद सरसावन 

ल�ो है बरसावन सिलल च�ँ ओर त�। 

Q.No: 25 'सुरचाप' श� द का अथ� � या है?

A दािमनी

B इ�धनुष

C मगूर 

D वायु 

Correct Ans : B

Subject : Hindi Bhasha 01

 
 

Passage:

िनद� �श: का� यांश को पढ़कर पूछे गए �� नो के सबसे उिचत उ� तर वाले िवक� प का चयन कीिजए-

दािमनी दमक, सुरचाप की चमक , �ाम 

घटा की घमक अित घोर घनघोर त�। 

कोिकला, कलापी कल कूजत ह� िजत-ितत 

सीतल है हीतल, समीर झकझोर त�।  

सेनापित आवन कहयो ंहै मनभावन, सु 

ला�ो तरसावन िवरह-जुर जोर तै। 

आयो सखी सावन, मद सरसावन 

ल�ो है बरसावन सिलल च�ँ ओर त�। 

Q.No: 26 "बरसावन" म� कौन-सा अलंकार है?

A � लेष अलंकार

B �पक अलंकार

C यमक अलंकार 

D अित�ो�� अलंकार 

Correct Ans : A

Subject : Hindi Bhasha 01

 
 

Passage:

िनद� �श: का� यांश को पढ़कर पूछे गए �� नो के सबसे उिचत उ� तर वाले िवक� प का चयन कीिजए-

दािमनी दमक, सुरचाप की चमक , �ाम 

घटा की घमक अित घोर घनघोर त�। 

कोिकला, कलापी कल कूजत ह� िजत-ितत 

सीतल है हीतल, समीर झकझोर त�।  

सेनापित आवन कहयो ंहै मनभावन, सु 

ला�ो तरसावन िवरह-जुर जोर तै। 

आयो सखी सावन, मद सरसावन 

ल�ो है बरसावन सिलल च�ँ ओर त�। 

Q.No: 27 ''आयो सखी सावन, मद सरसावन'' म� इस प ं�� म� कौन-सा अलंकार है?

A अनु�ास अलंकार

B � लेष अलंकार

C उ�े�ा अलंकार 

D यमक अलंकार

Correct Ans : A
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Subject : Hindi Bhasha 01

Passage:

िनद� �श: का� यांश को पढ़कर पूछे गए �� नो के सबसे उिचत उ� तर वाले िवक� प का चयन कीिजए-

दािमनी दमक, सुरचाप की चमक , �ाम 

घटा की घमक अित घोर घनघोर त�। 

कोिकला, कलापी कल कूजत ह� िजत-ितत 

सीतल है हीतल, समीर झकझोर त�।  

सेनापित आवन कहयो ंहै मनभावन, सु 

ला�ो तरसावन िवरह-जुर जोर तै। 

आयो सखी सावन, मद सरसावन 

ल�ो है बरसावन सिलल च�ँ ओर त�। 

Q.No: 28 सावन म� जहाँ-तहाँ कौन कूक रहे ह�?

A कोयल और दादु�र

B मयूर और काग

C अली और मोर

D कोयल और कलापी

Correct Ans : D

Subject : Hindi Bhasha 01

Passage:

िनद� �श: का� यांश को पढ़कर पूछे गए �� नो के सबसे उिचत उ� तर वाले िवक� प का चयन कीिजए-

दािमनी दमक, सुरचाप की चमक , �ाम 

घटा की घमक अित घोर घनघोर त�। 

कोिकला, कलापी कल कूजत ह� िजत-ितत 

सीतल है हीतल, समीर झकझोर त�।  

सेनापित आवन कहयो ंहै मनभावन, सु 

ला�ो तरसावन िवरह-जुर जोर तै। 

आयो सखी सावन, मद सरसावन 

ल�ो है बरसावन सिलल च�ँ ओर त�। 

Q.No: 29 सावन म� नाियका को कौन तरसा रहा है?

A उसकी स�खयाँ

B वषा�

C िवरह � यथा 

D भौ�ंरा 

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 30 िन� न म� से �ाथिमक � तर पर िव�ािथ�यो ंके भाषा-िश�ण के संदभ� म� कौन-सा कथन सही है ?

A ब� चे भाषा की जिटल और समृ� संरचनाओ ंका �ान िव�ालय म� ही अिज�त करते ह�। 

B ब� चे भाषा की जिटल और समृ� संरचनाओ ंका �ान केवल घर म� ही अिज�त करते ह�

C ब� चे भाषा की जिटल संरचनाओ ंका �ान केवल समाज म� ही अिज�त करते ह�

D ब� चे भाषा की बौ��क और समृ� संरचनाओ ंका �ान केवल घर म� ही अिज�त करते ह�

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 31
2461503

Which of the following fraction is the largest?

िन�िल�खत म� से कौन सा िभ� सबसे बड़ा है?

https://applink.adda247.com/d/XhqWf9lSap
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A
  

  

B

  

  

C

  

  

D

  

  

Correct Ans : D

Subject : Mathematics

 
 

Q.No: 32
2466928

What should come in place of the question mark (?) in the following question?

0.2 × 560 + 0.4 × 460 = ?

िन�िल�खत �� म� ��वाचक िच� (?) के �थान पर �ा आना चािहए?

0.2 × 560 + 0.4 × 460 = ?

A

284

284

B

272

272

C

296

296

D

324

324

Correct Ans : C

Subject : Mathematics

 
 

Q.No: 33
2467110

Sum of the squares of three consecutive natural numbers is 77. Find the largest number of the three.

तीन �मागत �ाकृितक सं�ाओ ंके वग� का योग 77 है। तीनो ंम� से सबसे बड़ी सं�ा �ात कीिजए।

A

6

6

B

8

8

C

5

5
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D 4

4

Correct Ans : A

Subject : Mathematics

 
 

Q.No: 34
2467174   

  

A

861

861

B

767

767

C

973

973

D

679

679

Correct Ans : C

Subject : Mathematics

 
 

Q.No: 35
2467188   

  

A

  

  

B

  

  

C

  

  

D

  

  

Correct Ans : C

Subject : Mathematics

 
 

Q.No: 36
2467375

Manish's present age is y years and Aman's present age is x years. Manish is thrice as old as Aman. After how many years will Manish become five times
his age?

https://applink.adda247.com/d/XhqWf9lSap
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मनीष की वत�मान उ� y वष� और अमन की वत�मान उ� x वष� है। मनीष, अमन से तीगुनी उ� का है। मनीष िकतने वष� बाद अपनी उ� का पाँच गुना हो जाएगा।

A

3y

3y

B

10x

10x

C

12x 

12x

D

5y

5y

Correct Ans : C

Subject : Mathematics

 
 

Q.No: 37
2467629

The areas of two squares are in the ratio 225 : 256. What is the ratio of their perimeters:

दो वग� के �े�फल 225 : 256 के अनुपात म� ह�। उनके प�रमापो ंका अनुपात �ा है:

A

225 : 256 

225 : 256

B

256 : 225 

256 : 225

C

15 : 16 

15 : 16

D

16 : 15

16 : 15

Correct Ans : C

Subject : Mathematics

 
 

Q.No: 38
2467727

A two-digit number is such that twice the tens digit added to eleven times the units digit is equal to the number itself. Find the number.

दो अंको ंकी एक सं�ा ऐसी है िक इकाई के अंक के �ारह गुने म� दहाई के अंक का दुगना जोड़ने पर वह सं�ा ही होती है। सं�ा �ात कीिजए।

A

48

48

B

86 

86

C

73 

73

D

54

54

Correct Ans : D

Subject : Mathematics
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Q.No: 39
2467811

  

  

A

3, 4

3, 4

B

3, 5 

3, 5

C

4, 6 

4, 6

D

2, 3

2, 3

Correct Ans : B

Subject : Mathematics

 
 

Q.No: 40
2468025   

  

A

21

21

B

23

23

C

19

19

D

27

27

Correct Ans : B

Subject : Mathematics

 
 

Q.No: 41
2468084   

  

A

  

  

B

   

  

C    
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D

  

  

Correct Ans : B

Subject : Mathematics

 
 

Q.No: 42
2468125

If two supplementary angles are in the ratio of 13 : 5, find the greater angle.

यिद दो संपूरक कोण 13 : 5 के अनुपात म� ह�, तो बड़ा कोण �ात कीिजए।

A

  

  

B

   

  

C

   

  

D

  

  

Correct Ans : A

Subject : Mathematics

 
 

Q.No: 43
2468428

A person can be a good Mathematics teacher if he must be able to

एक ��� एक अ�ा गिणत िश�क हो सकता है यिद वह ............. म� स�म हो।

A

gives exercises for more practices.    

अिधक अ�ास के िलए अ�ास पाठ देता हो

B

is aware of techniques of answering the questions.

��ो ंके उ�र देने की तकनीको ंसे अवगत हो

C

have completed Masters in Mathematics.    

गिणत म� परा�ातक पूरा िकया हो

D

understand, apply and make the connections across the concepts.

अवधारणाओ ंको समझ�, लागू कर�  और उनके बीच संबंध बनाएं

Correct Ans : D

Subject : Mathematics

 
 

Q.No: 44
2468584

The number of minutes in 15 days is equal to the number of seconds in which of the following? 

15 िदनो ंम� िमनटो ंकी सं�ा बराबर है िन� म� से िकसके सेकंडो ंकी सं�ा के?

A

8 hours

8 घंटे

B 4 hours

https://applink.adda247.com/d/XhqWf9lSap
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4 घंटे

C

5 hours

5 घंटे

D

6 hours

6 घंटे

Correct Ans : D

Subject : Mathematics

 
 

Q.No: 45
2468617

Which of the following cannot be considered as a reason for fear and failure in mathematics?

िन�िल�खत म� से िकसे गिणत म� भय और असफलता का कारण नही ंमाना जा सकता है?

A

Gender difference

िलंग अंतर

B

Classroom experience 

क�ा का अनुभव

C

Symbolic notation 

�तीका�क संकेतन

D

Structure of mathematics 

गिणत की संरचना

Correct Ans : A

Subject : Mathematics

 
 

Q.No: 46
2469612

The ratio of 150 days to 1 Non leap year is:

150 िदनो ंसे 1 नॉन लीप वष� का अनुपात है :

A

11 : 21

11 : 21

B

30 : 73

30 : 73

C

79 : 13

79 : 13

D

73 : 30

73 : 30

Correct Ans : B

Subject : Mathematics

 
 

Q.No: 47
2469623

Calculate the ratio of 1 kg to 375 g.

1 िकलो से 375 �ाम का अनुपात �ात कीिजए।

A 2 : 7

https://applink.adda247.com/d/XhqWf9lSap
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2 : 7

B

20 : 11

20 : 11

C

8 : 3

8 : 3

D

3 : 8

3 : 8

Correct Ans : C

Subject : Mathematics

 
 

Q.No: 48
2469631

The ratio of 104 months to 13 years is:

104 महीने से 13 साल का अनुपात है

A

3 : 5

3 : 5

B

2 : 3

2 : 3

C

7 : 5

7 : 5

D

4 : 3

4 : 3

Correct Ans : B

Subject : Mathematics

 
 

Q.No: 49
2469666

The ratio of 2250 ml to 450 ml is:

2250 िमली से 450 िमली का अनुपात है:

A

1 : 2

1 : 2

B

1 : 3

1 : 3

C

5 : 1

5 : 1

D

2 : 5

2 : 5

Correct Ans : C

Subject : Mathematics

 
 

Q.No: 50
2469677

Sachin got 90 marks in science out of 270. The passing mark in the exam is 40 percent. Find the ratio of marks obtained to passing marks.

सिचन को िव�ान म� 270 म� से 90 अंक िमले ह�। परी�ा म� उ�ीण� अंक 40 �ितशत है। �ा� अंको ंका उ�ीणा�क से अनुपात �ात कीिजए।

A

https://applink.adda247.com/d/XhqWf9lSap
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37 : 45

37 : 45

B

2 : 3

2 : 3

C

54 : 45

54 : 45

D

45 : 54

45 : 54

Correct Ans : D

Subject : Mathematics

 
 

Q.No: 51
2469859   

  

A

20

20

B

25

25

C

31

31

D

15

15

Correct Ans : D

Subject : Mathematics

 
 

Q.No: 52
2473362

x:3 ::12:4 find the value of x.

x:3 ::12:4 x का मान �ात कीिजए।

A

12

12

B

8

8

C

10

10

D

9

9

Correct Ans : D

Subject : Mathematics

 
 

Q.No: 53 Gaumutrika, Khanda, Bheda, and Ista re methods of:
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2475565

गौिमि�का, खंड, भेदा और इं�ा की िविधयाँ ह�:

A subtraction
घटाव

B
addition

योग

C multiplication
गुणा

D division
िवभाजन

Correct Ans : C

Subject : Mathematics

 
 

Q.No: 54
2479445

If '-' is represented by '×', '×' is represented by '+', '+' is represented by '÷' and '÷' is represented by '-', then what will be the value of 935 + 85 – 17 ÷
12 × 6?

यिद '-' को '×' �ारा, '×' को '+' �ारा, '+' को '÷' �ारा तथा '÷' को '-' �ारा दशा�या जाता है, तो 935 + 85 – 17 ÷ 12 × 6  का मान �ा होगा?  

A

180

180

B

181

181

C

120

120

D

121

121

Correct Ans : B

Subject : Mathematics

 
 

Q.No: 55
2481009

Given interchanges: signs + and ÷, and numbers 3 and 1; then the value of 6 + 3 × 3 ÷ 4 - 1 is

िदए गए इंटरच��ज (आपस म� बदलना): िच� + और ÷, और सं�ा 3 और 1; तो 6 + 3 × 3 ÷ 4 – 1 का मान है

A

12

12

B

14

14

C

16

16

D

19

19

Correct Ans : D

Subject : Mathematics

 
 

Q.No: 56
2481671

Facility index of an item determines? 

िकसी व�ु का सुिवधा सूचकांक िनधा��रत करता है?

A
Ease or difficulty

आसानी या किठनाई

B Discrimination power

https://applink.adda247.com/d/XhqWf9lSap
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भेदभाव श��

C
Objectivity

िन��तावाद

D Reliability
िव�सनीयता

Correct Ans : A

Subject : Mathematics

 
 

Q.No: 57
2481732

Suppose you are the Chairperson of a Board of School Education, how would you plan to improve the overall quality of education in the schools under your
jurisdiction? This type of question is an example of  

मान लीिजए िक आप �ूल िश�ा बोड� के अ�� ह�, तो आप अपने अिधकार �े� के तहत �ूलो ंम� िश�ा की सम� गुणव�ा म� सुधार करने की योजना कैसे बनाएंगे? इस �कार का �� िकसका उदाहरण
है?

A
Higher order divergent 

उ� �म िडवज�� 

B
Higher order convergent 

उ� �म अिभसरण

C
Lower order divergent 

िनचला �म िडवज�� 

D Lower order convergent 
िनचला �म अिभसरण

Correct Ans : A

Subject : Mathematics

 
 

Q.No: 58
2481860

Which of the following is a form of research typically conducted by teachers, counselors, and other professionals to answer questions they have and to
specifically help them solve local problems? 

िन�िल�खत म� से कौन सा शोध आमतौर पर िश�को,ं परामश�दाताओ ंऔर अ� पेशेवरो ं�ारा उनके सवालो ंके जवाब देने और �थानीय सम�ाओ ंको हल करने म� िवशेष �प से मदद करने के िलए िकया
जाता है?

A
action research

ि�या-शोध

B
basic research

बुिनयादी अनुसंधान

C

predictive research

पूवा�नुमानीय अनुसंधान

D orientational research
ओ�रएंटेशनल अनुसंधान

Correct Ans : A

Subject : Mathematics

 
 

Q.No: 59
2481930

Two or more aspects are understood in 

दो या दो से अिधक पहलुओ ंको समझा जाता है

A
Unistructural lever

यूिन�� �रल लीवर

B
Multistructural level

ब�संरचना�क �र

C
Rational level

तक� संगत �र

D Extended abstract level
िव�ा�रत सार �र

Correct Ans : B

Subject : Mathematics

 
 

Q.No: 60
2482453

What are the demerits of demonstration method? 

�दश�न प�ित के दोष �ा ह�?

A
Pupil do not get chance to perform experiment

िश� को �योग करने का मौका नही ंिमलता

B It is time consuming
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इसम� समय लगता है

C
It is economical method

यह िकफायती तरीका है

D It is based on learning by doing.
यह करके सीखने पर आधा�रत है।

Correct Ans : A

Subject : Mathematics

 
 

Q.No: 61
2469458

Which of the following greenhouse gasses is entirely anthropogenic in origin?

िन�िल�खत म� से कौन सी �ीनहाउस गैस पूरी तरह से मानवजिनत है?

A

Water vapors 

भाप

B

Methane

मीथेन

C

Carbon dioxide

काब�न डाईऑ�ाइड

D

Nitrous oxide

नाइट� स ऑ�ाइड

Correct Ans : C

Subject : Environmental Study

 
 

Q.No: 62
2469497

Greenhouse effect is caused by:

�ीनहाउस �भाव िकसके कारण होता है:

A

  

  

B

  

  

C

  

  

D

   

  

Correct Ans : C

Subject : Environmental Study

 
 

Q.No: 63
2469739

Most polluted city in India is:

भारत का सबसे �दूिषत शहर है-

A Mumbai
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मंुबई

B

Kolkata

कोलकाता

C

Delhi

िद�ी

D

Chennai 

चे�ई

Correct Ans : C

Subject : Environmental Study

 
 

Q.No: 64
2469769

For most of the organisms, the optimum temperature rang lies between -

मुख् यत: अिधकतर सभी जीवो ंका अनुकूलतम तापमान िनम् निल�खत �ेणी म� होता है-

A

  

  

B

  

  

C

  

  

D

  

  

Correct Ans : D

Subject : Environmental Study

 
 

Q.No: 65
2470319

A teacher finds some of his students exceptionally bright and intelligent. How will the teacher teach them?

िश�क अपने कुछ छा�ो ंको असाधारण �प से उ�ल और बु��मान पाता है। िश�क उ�� कैसे पढ़ाएंगे?

A

Along with higher classes 

उ� क�ाओ ंके साथ

B

Using enriched curriculum 

समृ� पा��म का उपयोग करके

C

As per his wish 

उसकी इ�ा के अनुसार

D

Along with rest of the class 

बाकी क�ा के साथ

Correct Ans : B

Subject : Environmental Study

 
 

Q.No: 66
2470360

Which of the following is a sign of motivated teaching?
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िन�िल�खत म� से कौन �े�रत िश�ण का संकेत है?

A

Maximum presence of students in the class

क�ा म� छा�ो ंकी अिधकतम उप��थित

B

Asking questions by students

छा�ो ं�ारा �� पूछना

C

Pin drop silence in the class

क�ा म� पूण� शांित

D

Completion of home assignments

गृह काय� की पूित�

Correct Ans : B

Subject : Environmental Study

 
 

Q.No: 67
2470465

In EVS classroom scaffolding refers to the process where teacher  

ईवीएस क�ा म� � केफोलिडंग उस �ि�या को संदिभ�त करता है जहां िश�क-

A

Ask student to practice exercises repeatedly 

छा�ो ंको बार-बार अ� यास करने को कह�

B

Supports students to obtain good marks 

अ�े अंक �ा� करने म� मदद करता है

C

Gives temporary support to learners to enhance learning

सीखने को बढ़ाने के िलए िश�ािथ�यो ंको अ�थायी सहायता देता है

D

Teacher encourages learners to solve the problem effectively 

सम�ा को �भावी ढंग से हल करने के िलए िश�ािथ�यो ंको �ो�ािहत करता है

Correct Ans : C

Subject : Environmental Study

 
 

Q.No: 68
2470692

How old is Jaisalmer Fort and is in a state of decay, with many of its beautiful palaces on the verge of collapse. The arrival of tourists put a spotlight on
these heritage buildings leading to a major conservation initiative by INTACH 

जैसलमेर का िकला िकतना पुराना है और जीण�-शीण� अव�था म� है, इसके कई खूबसूरत महल ढहने के कगार पर ह�। पय�टको ंके आगमन ने इन िवरासत भवनो ंपर �काश डाला, िजससे INTACH
. �ारा एक �मुख संर�ण पहल की गई

A

1000 years

1000 वष�

B

550 years

550 साल

C

850 years

850 वष�

D

650 years

650 साल

Correct Ans : C

Subject : Environmental Study
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Q.No: 69
2470797

Which of these was not worshipped by the Harappan?

इनम� से िकसकी पूजा हड़�ा के लोग नही ंकरते थे?

A

Nature 

�कृित

B

Goddess

देवी

C

Indra

इं�

D

Pashupatinath

पशुपितनाथ

Correct Ans : C

Subject : Environmental Study

 
 

Q.No: 70
2472232

In March, the highest temperature recorded on the Deccan plateau is about;

माच� म�, द�न के पठार पर दज� िकया गया उ�तम तापमान लगभग है;

A

50 degree Celsius

50 िड�ी से��यस

B

45 degree Celsius

45 िड�ी से��यस

C

20 degree Celsius

20 िड�ी से��यस

D

38 degree Celsius

38 िड�ी से��यस

Correct Ans : D

Subject : Environmental Study

 
 

Q.No: 71
2472495

India is the second largest producer of sugarcane only after which country? 

भारत िकस देश के बाद ग�े का दूसरा सबसे बड़ा उ�ादक है?

A

Brazil 

�ाजील

B

China

चीन

C

Japan

जापान

D

America 

अमे�रका
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Correct Ans : A

Subject : Environmental Study

 
 

Q.No: 72
2472616

Which of the following act as regulator in physiological activities? 

िन�िल�खत म� से कौन शारी�रक गितिविधयो ंम� िनयामक के �प म� काय� करता है?

A

Proteins 

�ोटीन

B

Fat

वसा

C

Carbohydrate

काब�हाइड� ेट

D

Mineral

खिनज पदाथ�

Correct Ans : D

Subject : Environmental Study

 
 

Q.No: 73
2472847

Carbohydrate which is found in milk.

दूध म� पाया जाने वाला काब�हाइड� ेट।

A

Glucose 

�ूकोज़

B

Fructose

�ु�ोज

C

Starch 

�ाच�

D

Lactose 

लै�ोज

Correct Ans : D

Subject : Environmental Study

 
 

Q.No: 74
2473034

Which vitamin can give protection to skin and eyes? 

कौनसा िवटािमन आंखो ंव � वचा को सुर�ा �दान करता है? 

A

Vitamin A

िवटािमन A

B

Vitamin B

िवटािमन B

C

Vitamin C

िवटािमन C

D Vitamin D
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िवटािमन D

Correct Ans : A

Subject : Environmental Study

 
 

Q.No: 75
2473924

In which year was the Indian Deep Space Network (ISDN) commissioned?

भारतीय गहन अंत�र� नेटवक�  (आई.एस.डी.एन.) को िकस वष� चालू िकया गया था?

A

2001

2001

B

2005

2005

C

2008

2008

D

2011

2011

Correct Ans : C

Subject : Environmental Study

 
 

Q.No: 76
2474066

In which of the following ways 2DPA-1 polymers can be used?

िन�िल�खत म� से िकस �कार 2DPA-1 ब�लक का उपयोग िकया जा सकता है?

A

To coat smartphones only

केवल �ाट�फोन को कोट करने के िलए

B

To coat automotive parts only

केवल ऑटोमोिटव पाट्�स को कोट करने के िलए

C

To coat smartphones and automotive parts

�ाट�फोन और ऑटोमोिटव पाट्�स को कोट करने के िलए

D

To grow plants

पौधे उगाने के िलए

Correct Ans : C

Subject : Environmental Study

 
 

Q.No: 77
2474154

Which of the following satellites helped in identifying the planet “GJ 367 b”?

िन�िल�खत म� से िकस उप�ह ने �ह "GJ 367 b" की पहचान करने म� मदद की?

A

Transiting Exoplanet Survey Satellite (TESS)

ट� ांिसिटंग ए�ो�ेनेट सव� सॅटॅलाइट (TESS)

B

New Exoplanet Survey Satellite (NESS)

�ू ए�ो�ेनेट सव� सॅटॅलाइट (NESS)

C Double Asteroid Redirection Satellite (DARS)
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डबल ऐ�रॉड रेिडरे�न सॅटॅलाइट (DARS)  

D

Curiosity  

�ूरोिसटी

Correct Ans : A

Subject : Environmental Study

 
 

Q.No: 78
2474199

Which of the following missions is selected by NASA to study the “lost habitat” of Venus?

िन�िल�खत म� से कौन सा िमशन नासा �ारा शु� के "खोए �ए आवास" का अ�यन करने के िलए चुना गया है?

A

DAVINCI+

DAVINCI+

B

GIVANCI+

GIVANCI+

C

BARINCH -

BARINCH -

D

DAVINCI -

DAVINCI -

Correct Ans : A

Subject : Environmental Study

 
 

Q.No: 79
2475714

Water is also known as:

पानी को इस �कार भी जाना जाता है:

A

Universal solution

साव�भौिमक समाधान

B

Universal Solvent

साव�भौिमक िवलायक

C

Magic solvent

जादूई िवलायक

D

Magic solution

जादूई समाधान

Correct Ans : B

Subject : Environmental Study

 
 

Q.No: 80
2475802

Who’s the current director of the National Centre of Organic Farming?

रा�� ीय जैिवक खेती क� �� के िनदेशक कौन ह�?

A

Dr. Ganesh Sharma

डॉ. गणेश शमा�

B

Dr. Krishna Bihari

डॉ. कृ�ा िबहारी

C
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Dr. Priyanka Pradhan

डॉ. ि�यंका �धान

D

Shri Ravindra Kumar

�ी रिव� कुमार

Correct Ans : A

Subject : Environmental Study

 
 

Q.No: 81
2475856

Farmers have to add _________ to the fields to replenish the soil with nutrients.

िम�ी को पोषक त�ो ंसे भरने के िलए िकसानो ंको खेतो ंम� ________ डालना पड़ता है।

A

manures

खाद

B

seeds

बीज

C

water

पानी

D

seeds and water both

बीज और पानी दोनों

Correct Ans : A

Subject : Environmental Study

 
 

Q.No: 82
2476551

Who won the orange cap in IPL 2021?

आईपीएल 2021 म� ऑर��ज कैप िकसने जीता?

A

Virat Kohli

िवराट कोहली

B

KL Rahul

के.एल. रा�ल

C

Ruturaj Gaikwad

ऋतुराज गायकवाड़

D

Quinton de Kock

��ंटन डी कॉक

Correct Ans : C

Subject : Environmental Study

 
 

Q.No: 83
2476600   

  

A

Himachal Pradesh

िहमाचल �देश

B Uttar Pradesh
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उ�र �देश

C

Jammu Kashmir

ज�ू क�ीर

D

Chattisgarh

छ�ीसगढ़

Correct Ans : C

Subject : Environmental Study

 
 

Q.No: 84
2477340

Briefing the students before the proposed educational tour means telling the students about:_____________

��ािवत शैि�क �मण से पहले छा�ो ंको जानकारी देने का अथ� है छा�ो ंको इस बारे म� बताना:

A

Do’s and Don'ts for the visit

या�ा के िलए �ा कर�  और �ा न कर�

B

Only Do’s  for the visit 

केवल या�ा के िलए �ा कर�

C

Only Don'ts for the visit

केवल या�ा के िलए �ा न कर�

D

Free the students to roam

छा�ो ंको घूमने के िलए आज़ाद कर�

Correct Ans : A

Subject : Environmental Study

 
 

Q.No: 85
2477342

At the site, children need to be given enough opportunity and time to make ________ the site.

साइट पर, ब�ो ंको _____ के िलए पया�� अवसर और समय िदए जाने की आव�कता है।

A

Observation and Explore

अवलोकन और अ�ेषण

B

Impulsive decisions and leave

आवेगी िनण�य और जाने देने

C

rational decisions and leave

तक� संगत िनण�य और जाने देने

D

Uninformed choices and stay at

बेख़बर िवक� और �कने

Correct Ans : A

Subject : Environmental Study

 
 

Q.No: 86
2477830

In what layer of atmosphere is the ‘Bad’ Ozone found?

वायुम�ल की िकस परत म� ‘खराब’ ओजोन पाई जाती है?

A

Troposphere

�ोभमंडल
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B Stratosphere

समताप मंडल

C

Thermosphere

तापम�ल

D

Mesosphere

म�म�ल

Correct Ans : A

Subject : Environmental Study

 
 

Q.No: 87
2477916

The theory which holds that the plates ride up on the more mobile mantle resulting in plates contacting each other arising stress in the crust is called
what?

वह िस�ांत जो यह मानता है िक �ेट� अिधक गितशील भू�ावार (म��टल) पर चढ़ती ह� िजसके प�रणाम��प �ेट्स एक दूसरे के संपक�  म� आने से भूपप�टी (��) म� तनाव उ�� होता है, �ा कहलाता है?

A

Theory of plate tectonics

�ेट िववत�िनकी िस�ांत

B

Theory of Disaster

आपदा का िस�ांत

C

Theory of Earthquake

भूकंप का िस�ांत

D

Theory of Natural Calamities

�ाकृितक आपदाओ ंका िस�ांत

Correct Ans : A

Subject : Environmental Study

 
 

Q.No: 88
2477968

Which of the following terms refer to the non-living component of the environment?

िन�िल�खत म� से कौनसा श� पया�वरण के िनज�व घटक को संदिभ�त करता है?

A

Biotic

जैिवक

B

Abiotic

अजैिवक

C

Tangible

मूत�

D

Biotech

बायोटेक

Correct Ans : B

Subject : Environmental Study

 
 

Q.No: 89
2478694

Which of the following is NOT advisable while making Powerpoint slides to be used as TLM (Teaching-Learning Material)?

टी.एल.एम. (अ�ापन अिधगम साम�ी) के �प म� उपयोग करने के िलए पावरपॉइंट �ाइड्स बनाते समय िन�िल�खत म� से कौन सा उिचत नही ंहै?

A There should be one line per point
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�ित िबंदु एक पं�� होनी चािहए।

B

Try to keep the Powerpoint presentation short, so a slide should be crammed with information

पावरपॉइंट �ेज��टेशन को छोटा रखने की कोिशश कर� , इसिलए हर बात एक �ाइड म� होना चािहए।

C

Universal abbreviations should be used

साव�भौिमक सं�ेपो ंका उपयोग िकया जाना चािहए।

D

Complicated figures should be avoided

जिटल आकृितयाँ से बचा जाना चािहए।

Correct Ans : B

Subject : Environmental Study

 
 

Q.No: 90
2478720

The term _________ implies that evaluation of learners’ performance is carried out in both scholastic and co-scholastic areas?

 _________ का ता�य� है िक िश�ािथ�यो ंके �दश�न का मू�ांकन शैि�क और सह-शैि�क दोनो ं�े�ो ंम� िकया जाता है?

A

Comprehensive

�ापक

B

Continuous

िनरंतर

C

Formative

रचना�क

D

Summative

योगा�क

Correct Ans : A

Subject : Environmental Study

 
 

Passage:

Direction: Read the given poem and answer the question given below accordingly.

Sure, this world is full of trouble

     I ain't said it ain't.

Lord, I've had enough and double

     Reason for complaint;

Rain and storm have come to fret me,

     Skies are often gray;

Thorns and brambles have beset me

     On the road — but say,

     Ain't it fine today?

What's the use of always weepin',

     Making trouble last?

What's the use of always keepin'

     Thinkin' of the past?

Each must have his tribulation —

     Water with his wine;

Life, it ain't no celebration,

     Trouble? — I've had mine —

     But today is fine!
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Q.No: 91 Which of the following is the most suitable title for the given poem? 

A It's Fine Today

B Life is Just

C Let There be Happiness 

D Happiness and Troubles 

Correct Ans : A

Subject : English Language 02

 
 

Passage:

Direction: Read the given poem and answer the question given below accordingly.

Sure, this world is full of trouble

     I ain't said it ain't.

Lord, I've had enough and double

     Reason for complaint;

Rain and storm have come to fret me,

     Skies are often gray;

Thorns and brambles have beset me

     On the road — but say,

     Ain't it fine today?

What's the use of always weepin',

     Making trouble last?

What's the use of always keepin'

     Thinkin' of the past?

Each must have his tribulation —

     Water with his wine;

Life, it ain't no celebration,

     Trouble? — I've had mine —

     But today is fine!

Q.No: 92 ‘Rain and storm have come to Rain and storm have come to fret me’, Which of the following is nearest in meaning to the word ‘fret’?

A something hidden that not many know or understand 

B full of trivial conversation 

C to be worried and unhappy about something

D unnecessary and unwarranted 

Correct Ans : C

Subject : English Language 02

 
 

Passage:

Direction: Read the given poem and answer the question given below accordingly.

Sure, this world is full of trouble

     I ain't said it ain't.

Lord, I've had enough and double

     Reason for complaint;

Rain and storm have come to fret me,

     Skies are often gray;

Thorns and brambles have beset me

     On the road — but say,

     Ain't it fine today?

What's the use of always weepin',
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     Making trouble last?

What's the use of always keepin'

     Thinkin' of the past?

Each must have his tribulation —

     Water with his wine;

Life, it ain't no celebration,

     Trouble? — I've had mine —

     But today is fine!

Q.No: 93 Which of the following is opposite in meaning to the word 'beset'?

A perplex 

B attack

C please

D afford 

Correct Ans : C

Subject : English Language 02

 
 

Passage:

Direction: Read the given poem and answer the question given below accordingly.

Sure, this world is full of trouble

     I ain't said it ain't.

Lord, I've had enough and double

     Reason for complaint;

Rain and storm have come to fret me,

     Skies are often gray;

Thorns and brambles have beset me

     On the road — but say,

     Ain't it fine today?

What's the use of always weepin',

     Making trouble last?

What's the use of always keepin'

     Thinkin' of the past?

Each must have his tribulation —

     Water with his wine;

Life, it ain't no celebration,

     Trouble? — I've had mine —

     But today is fine!

Q.No: 94 ‘Lord, I've had enough and double’. What does the poet talk about in the given line? 

A love

B happiness

C sadness

D trouble

Correct Ans : D

Subject : English Language 02

 
 

Passage:

Direction: Read the given poem and answer the question given below accordingly.

Sure, this world is full of trouble

     I ain't said it ain't.
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Lord, I've had enough and double

     Reason for complaint;

Rain and storm have come to fret me,

     Skies are often gray;

Thorns and brambles have beset me

     On the road — but say,

     Ain't it fine today?

What's the use of always weepin',

     Making trouble last?

What's the use of always keepin'

     Thinkin' of the past?

Each must have his tribulation —

     Water with his wine;

Life, it ain't no celebration,

     Trouble? — I've had mine —

     But today is fine!

Q.No: 95 ‘Skies are often gray’. Which part of speech is the word ‘often’ in the given line? 

A adjective

B preposition

C conjunction

D adverb

Correct Ans : D

Subject : English Language 02

 
 

Passage:

Direction: Read the given poem and answer the question given below accordingly.

Sure, this world is full of trouble

     I ain't said it ain't.

Lord, I've had enough and double

     Reason for complaint;

Rain and storm have come to fret me,

     Skies are often gray;

Thorns and brambles have beset me

     On the road — but say,

     Ain't it fine today?

What's the use of always weepin',

     Making trouble last?

What's the use of always keepin'

     Thinkin' of the past?

Each must have his tribulation —

     Water with his wine;

Life, it ain't no celebration,

     Trouble? — I've had mine —

     But today is fine!

Q.No: 96 What does the word ‘complaint’ mean in the given poem?

A consisting of elements that are not of the same kind 

B impossible to deny or disprove 

C
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a statement that something is unsatisfactory or unacceptableD peculiar to the individual  

Correct Ans : C

Subject : English Language 02

 
 

Passage:

Direction: Read the given poem and answer the question given below accordingly.

Sure, this world is full of trouble

     I ain't said it ain't.

Lord, I've had enough and double

     Reason for complaint;

Rain and storm have come to fret me,

     Skies are often gray;

Thorns and brambles have beset me

     On the road — but say,

     Ain't it fine today?

What's the use of always weepin',

     Making trouble last?

What's the use of always keepin'

     Thinkin' of the past?

Each must have his tribulation —

     Water with his wine;

Life, it ain't no celebration,

     Trouble? — I've had mine —

     But today is fine!

Q.No: 97 Why does the author say, “Life is no celebration”?  

A because people are worthless

B because people don’t understand the meaning of being alive 

C because life is full of trouble

D because life is fair but we demand too much from it

Correct Ans : C

Subject : English Language 02

 
 

Passage:

Read the passage given below and then answer the questions given below the passage.

Nelson Rolihlahla Mandela was born on 18 July 1918 in the Transkei village close to Umtata. Nelson Mandela was sent to Healdtown, a Wesleyan secondary school
with some reputation where he enrolled after getting a primary education at a local mission school. He then registered for the Bachelor of Arts degree at Fort Hare
University College where he was appointed to the Representative Council of the Student. Also, he was suspended for joining a protest boycott from college. He went
to Johannesburg where, by correspondence, he finished his BA, took clerkship papers and began studying for his LLB. The Nelson Mandela essay is an insight into the
life and works of the great man. A Xhosa speaker, Mandela was born into the Thembu royal family in Mvezo, Union of South Africa. He studied law at the University of
Fort Hare and the University of Witwatersrand before working as a lawyer in Johannesburg. There he became involved in anti-colonial and African nationalist politics,
joining the ANC in 1943 and co-founding its Youth League in 1944. After the National Party's white-only government established apartheid, a system of racial
segregation that privileged whites, Mandela and the ANC committed themselves to its overthrow. He was appointed president of the ANC's Transvaal branch, rising to
prominence for his involvement in the 1952 Defiance Campaign and the 1955 Congress of the People.

He is held in deep respect within South Africa, where he is often referred to by his Thembu clan name, Madiba, and described as the "Father of the Nation". He was
repeatedly arrested for seditious activities and was unsuccessfully prosecuted in the 1956 Treason Trial. Influenced by Marxism, he secretly joined the banned South
African Communist Party (SACP). Although initially committed to non-violent protest, in association with the SACP he co-founded the militant uMkhonto we Sizwe in
1961 and led a sabotage campaign against the government. He was arrested and imprisoned in 1962, and, following the Rivonia Trial, was sentenced to life
imprisonment for conspiring to overthrow the state. 

Q.No: 98 Which of the following names is not used to refer to Nelson Mandela?

A Thembu clan 

B Rivonia

C
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Father of the Nation D Madiba

Correct Ans : A

Subject : English Language 02

 
 

Passage:

Read the passage given below and then answer the questions given below the passage.

Nelson Rolihlahla Mandela was born on 18 July 1918 in the Transkei village close to Umtata. Nelson Mandela was sent to Healdtown, a Wesleyan secondary school
with some reputation where he enrolled after getting a primary education at a local mission school. He then registered for the Bachelor of Arts degree at Fort Hare
University College where he was appointed to the Representative Council of the Student. Also, he was suspended for joining a protest boycott from college. He went
to Johannesburg where, by correspondence, he finished his BA, took clerkship papers and began studying for his LLB. The Nelson Mandela essay is an insight into the
life and works of the great man. A Xhosa speaker, Mandela was born into the Thembu royal family in Mvezo, Union of South Africa. He studied law at the University of
Fort Hare and the University of Witwatersrand before working as a lawyer in Johannesburg. There he became involved in anti-colonial and African nationalist politics,
joining the ANC in 1943 and co-founding its Youth League in 1944. After the National Party's white-only government established apartheid, a system of racial
segregation that privileged whites, Mandela and the ANC committed themselves to its overthrow. He was appointed president of the ANC's Transvaal branch, rising to
prominence for his involvement in the 1952 Defiance Campaign and the 1955 Congress of the People.

He is held in deep respect within South Africa, where he is often referred to by his Thembu clan name, Madiba, and described as the "Father of the Nation". He was
repeatedly arrested for seditious activities and was unsuccessfully prosecuted in the 1956 Treason Trial. Influenced by Marxism, he secretly joined the banned South
African Communist Party (SACP). Although initially committed to non-violent protest, in association with the SACP he co-founded the militant uMkhonto we Sizwe in
1961 and led a sabotage campaign against the government. He was arrested and imprisoned in 1962, and, following the Rivonia Trial, was sentenced to life
imprisonment for conspiring to overthrow the state. 

Q.No: 99 Which of the following was co-founded by Nelson Mandela? 

A Youth League of ANC 

B Youth ANC

C African Youth League

D Anti-colonial Youth 

Correct Ans : A

Subject : English Language 02

 
 

Passage:

Read the passage given below and then answer the questions given below the passage.

Nelson Rolihlahla Mandela was born on 18 July 1918 in the Transkei village close to Umtata. Nelson Mandela was sent to Healdtown, a Wesleyan secondary school
with some reputation where he enrolled after getting a primary education at a local mission school. He then registered for the Bachelor of Arts degree at Fort Hare
University College where he was appointed to the Representative Council of the Student. Also, he was suspended for joining a protest boycott from college. He went
to Johannesburg where, by correspondence, he finished his BA, took clerkship papers and began studying for his LLB. The Nelson Mandela essay is an insight into the
life and works of the great man. A Xhosa speaker, Mandela was born into the Thembu royal family in Mvezo, Union of South Africa. He studied law at the University of
Fort Hare and the University of Witwatersrand before working as a lawyer in Johannesburg. There he became involved in anti-colonial and African nationalist politics,
joining the ANC in 1943 and co-founding its Youth League in 1944. After the National Party's white-only government established apartheid, a system of racial
segregation that privileged whites, Mandela and the ANC committed themselves to its overthrow. He was appointed president of the ANC's Transvaal branch, rising to
prominence for his involvement in the 1952 Defiance Campaign and the 1955 Congress of the People.

He is held in deep respect within South Africa, where he is often referred to by his Thembu clan name, Madiba, and described as the "Father of the Nation". He was
repeatedly arrested for seditious activities and was unsuccessfully prosecuted in the 1956 Treason Trial. Influenced by Marxism, he secretly joined the banned South
African Communist Party (SACP). Although initially committed to non-violent protest, in association with the SACP he co-founded the militant uMkhonto we Sizwe in
1961 and led a sabotage campaign against the government. He was arrested and imprisoned in 1962, and, following the Rivonia Trial, was sentenced to life
imprisonment for conspiring to overthrow the state. 

Q.No: 100 Why Nelson Mandela was suspended after registering for the Bachelor of Arts degree? 

A he was suspended for taking part in illegal activities outside the college

B he was suspended for abusing the college staff 

C he was suspended for joining a protest boycott from college 

D he was suspended for giving lectures in the college while he was supposed to attend lectures 

Correct Ans : C

Subject : English Language 02

 
 

Passage:

Read the passage given below and then answer the questions given below the passage.
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Nelson Rolihlahla Mandela was born on 18 July 1918 in the Transkei village close to Umtata. Nelson Mandela was sent to Healdtown, a Wesleyan secondary school
with some reputation where he enrolled after getting a primary education at a local mission school. He then registered for the Bachelor of Arts degree at Fort Hare
University College where he was appointed to the Representative Council of the Student. Also, he was suspended for joining a protest boycott from college. He went
to Johannesburg where, by correspondence, he finished his BA, took clerkship papers and began studying for his LLB. The Nelson Mandela essay is an insight into the
life and works of the great man. A Xhosa speaker, Mandela was born into the Thembu royal family in Mvezo, Union of South Africa. He studied law at the University of
Fort Hare and the University of Witwatersrand before working as a lawyer in Johannesburg. There he became involved in anti-colonial and African nationalist politics,
joining the ANC in 1943 and co-founding its Youth League in 1944. After the National Party's white-only government established apartheid, a system of racial
segregation that privileged whites, Mandela and the ANC committed themselves to its overthrow. He was appointed president of the ANC's Transvaal branch, rising to
prominence for his involvement in the 1952 Defiance Campaign and the 1955 Congress of the People.

He is held in deep respect within South Africa, where he is often referred to by his Thembu clan name, Madiba, and described as the "Father of the Nation". He was
repeatedly arrested for seditious activities and was unsuccessfully prosecuted in the 1956 Treason Trial. Influenced by Marxism, he secretly joined the banned South
African Communist Party (SACP). Although initially committed to non-violent protest, in association with the SACP he co-founded the militant uMkhonto we Sizwe in
1961 and led a sabotage campaign against the government. He was arrested and imprisoned in 1962, and, following the Rivonia Trial, was sentenced to life
imprisonment for conspiring to overthrow the state. 

Q.No: 101 Which of the following sentences is correct according to the information given in the passage? 

A Mandela was born into the Madiba royal family in Mvezo

B Mandela then registered for the Bachelor of Arts degree at University of Witwatersrand

C Mandela secretly joined the banned South African Communist Party  

D Mandela was the chief member of African Youth League 

Correct Ans : C

Subject : English Language 02

 
 

Passage:

Read the passage given below and then answer the questions given below the passage.

Nelson Rolihlahla Mandela was born on 18 July 1918 in the Transkei village close to Umtata. Nelson Mandela was sent to Healdtown, a Wesleyan secondary school
with some reputation where he enrolled after getting a primary education at a local mission school. He then registered for the Bachelor of Arts degree at Fort Hare
University College where he was appointed to the Representative Council of the Student. Also, he was suspended for joining a protest boycott from college. He went
to Johannesburg where, by correspondence, he finished his BA, took clerkship papers and began studying for his LLB. The Nelson Mandela essay is an insight into the
life and works of the great man. A Xhosa speaker, Mandela was born into the Thembu royal family in Mvezo, Union of South Africa. He studied law at the University of
Fort Hare and the University of Witwatersrand before working as a lawyer in Johannesburg. There he became involved in anti-colonial and African nationalist politics,
joining the ANC in 1943 and co-founding its Youth League in 1944. After the National Party's white-only government established apartheid, a system of racial
segregation that privileged whites, Mandela and the ANC committed themselves to its overthrow. He was appointed president of the ANC's Transvaal branch, rising to
prominence for his involvement in the 1952 Defiance Campaign and the 1955 Congress of the People.

He is held in deep respect within South Africa, where he is often referred to by his Thembu clan name, Madiba, and described as the "Father of the Nation". He was
repeatedly arrested for seditious activities and was unsuccessfully prosecuted in the 1956 Treason Trial. Influenced by Marxism, he secretly joined the banned South
African Communist Party (SACP). Although initially committed to non-violent protest, in association with the SACP he co-founded the militant uMkhonto we Sizwe in
1961 and led a sabotage campaign against the government. He was arrested and imprisoned in 1962, and, following the Rivonia Trial, was sentenced to life
imprisonment for conspiring to overthrow the state. 

Q.No: 102 ‘Mandela was sentenced to life imprisonment for conspiring to overthrow the state’. Which of the following is nearest in meaning to the word ‘conspire’ in
the given line? 

A collude

B neglect 

C adopt 

D proposition 

Correct Ans : D

Subject : English Language 02

 
 

Passage:

Read the passage given below and then answer the questions given below the passage.

Nelson Rolihlahla Mandela was born on 18 July 1918 in the Transkei village close to Umtata. Nelson Mandela was sent to Healdtown, a Wesleyan secondary school
with some reputation where he enrolled after getting a primary education at a local mission school. He then registered for the Bachelor of Arts degree at Fort Hare
University College where he was appointed to the Representative Council of the Student. Also, he was suspended for joining a protest boycott from college. He went
to Johannesburg where, by correspondence, he finished his BA, took clerkship papers and began studying for his LLB. The Nelson Mandela essay is an insight into the
life and works of the great man. A Xhosa speaker, Mandela was born into the Thembu royal family in Mvezo, Union of South Africa. He studied law at the University of
Fort Hare and the University of Witwatersrand before working as a lawyer in Johannesburg. There he became involved in anti-colonial and African nationalist politics,
joining the ANC in 1943 and co-founding its Youth League in 1944. After the National Party's white-only government established apartheid, a system of racial
segregation that privileged whites, Mandela and the ANC committed themselves to its overthrow. He was appointed president of the ANC's Transvaal branch, rising to
prominence for his involvement in the 1952 Defiance Campaign and the 1955 Congress of the People.

He is held in deep respect within South Africa, where he is often referred to by his Thembu clan name, Madiba, and described as the "Father of the Nation". He was
repeatedly arrested for seditious activities and was unsuccessfully prosecuted in the 1956 Treason Trial. Influenced by Marxism, he secretly joined the banned South
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African Communist Party (SACP). Although initially committed to non-violent protest, in association with the SACP he co-founded the militant uMkhonto we Sizwe in
1961 and led a sabotage campaign against the government. He was arrested and imprisoned in 1962, and, following the Rivonia Trial, was sentenced to life
imprisonment for conspiring to overthrow the state. 

Q.No: 103 ‘Led a sabotage campaign against the government’. Which of the following is opposite in meaning to the word ‘sabotage’ in the given line? 

A create 

B hinder

C disrupt

D obstruct

Correct Ans : A

Subject : English Language 02

 
 

Passage:

Read the passage given below and then answer the questions given below the passage.

Nelson Rolihlahla Mandela was born on 18 July 1918 in the Transkei village close to Umtata. Nelson Mandela was sent to Healdtown, a Wesleyan secondary school
with some reputation where he enrolled after getting a primary education at a local mission school. He then registered for the Bachelor of Arts degree at Fort Hare
University College where he was appointed to the Representative Council of the Student. Also, he was suspended for joining a protest boycott from college. He went
to Johannesburg where, by correspondence, he finished his BA, took clerkship papers and began studying for his LLB. The Nelson Mandela essay is an insight into the
life and works of the great man. A Xhosa speaker, Mandela was born into the Thembu royal family in Mvezo, Union of South Africa. He studied law at the University of
Fort Hare and the University of Witwatersrand before working as a lawyer in Johannesburg. There he became involved in anti-colonial and African nationalist politics,
joining the ANC in 1943 and co-founding its Youth League in 1944. After the National Party's white-only government established apartheid, a system of racial
segregation that privileged whites, Mandela and the ANC committed themselves to its overthrow. He was appointed president of the ANC's Transvaal branch, rising to
prominence for his involvement in the 1952 Defiance Campaign and the 1955 Congress of the People.

He is held in deep respect within South Africa, where he is often referred to by his Thembu clan name, Madiba, and described as the "Father of the Nation". He was
repeatedly arrested for seditious activities and was unsuccessfully prosecuted in the 1956 Treason Trial. Influenced by Marxism, he secretly joined the banned South
African Communist Party (SACP). Although initially committed to non-violent protest, in association with the SACP he co-founded the militant uMkhonto we Sizwe in
1961 and led a sabotage campaign against the government. He was arrested and imprisoned in 1962, and, following the Rivonia Trial, was sentenced to life
imprisonment for conspiring to overthrow the state. 

Q.No: 104 ‘Although initially committed to non-violent protest, he co-founded the militant uMkhonto we Sizwe’. Which part of speech is the word ‘although’ in the
given line? 

A adverb

B conjunction

C determiner

D preposition

Correct Ans : B

Subject : English Language 02

 
 

Passage:

Read the passage given below and then answer the questions given below the passage.

Nelson Rolihlahla Mandela was born on 18 July 1918 in the Transkei village close to Umtata. Nelson Mandela was sent to Healdtown, a Wesleyan secondary school
with some reputation where he enrolled after getting a primary education at a local mission school. He then registered for the Bachelor of Arts degree at Fort Hare
University College where he was appointed to the Representative Council of the Student. Also, he was suspended for joining a protest boycott from college. He went
to Johannesburg where, by correspondence, he finished his BA, took clerkship papers and began studying for his LLB. The Nelson Mandela essay is an insight into the
life and works of the great man. A Xhosa speaker, Mandela was born into the Thembu royal family in Mvezo, Union of South Africa. He studied law at the University of
Fort Hare and the University of Witwatersrand before working as a lawyer in Johannesburg. There he became involved in anti-colonial and African nationalist politics,
joining the ANC in 1943 and co-founding its Youth League in 1944. After the National Party's white-only government established apartheid, a system of racial
segregation that privileged whites, Mandela and the ANC committed themselves to its overthrow. He was appointed president of the ANC's Transvaal branch, rising to
prominence for his involvement in the 1952 Defiance Campaign and the 1955 Congress of the People.

He is held in deep respect within South Africa, where he is often referred to by his Thembu clan name, Madiba, and described as the "Father of the Nation". He was
repeatedly arrested for seditious activities and was unsuccessfully prosecuted in the 1956 Treason Trial. Influenced by Marxism, he secretly joined the banned South
African Communist Party (SACP). Although initially committed to non-violent protest, in association with the SACP he co-founded the militant uMkhonto we Sizwe in
1961 and led a sabotage campaign against the government. He was arrested and imprisoned in 1962, and, following the Rivonia Trial, was sentenced to life
imprisonment for conspiring to overthrow the state. 

Q.No: 105 ‘He is held in deep respect within South Africa’. Which part of speech is the word ‘within’ in the given line of the passage? 

A preposition

B determiner

C adverb
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D conjunction 

Correct Ans : A

Subject : English Language 02

 
 

Q.No: 106 Constructivism in language learning mainly focuses on which of the following?

A engaging learners in exploring new knowledge

B memorising grammar rules

C dominant role of the teacher in a classroom

D none of the given options

Correct Ans : A

Subject : English Language 02

 
 

Q.No: 107 Language is tool since it is used for _______.

A communication

B processing ideas

C thinking

D conveying ideas

Correct Ans : A

Subject : English Language 02

 
 

Q.No: 108 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct. 

 When I saw her, she was looking quite _________________, quite unlike her normal self.

A dangerously

B cruelty

C noise

D defeated

Correct Ans : D

Subject : English Language 02

 
 

Q.No: 109 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct. 

I haven't spoken to her _______________.

A than

B yet

C never

D absolute

Correct Ans : B

Subject : English Language 02

 
 

Q.No: 110 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct. 

We should stop shopping now _______________ we spend all our money.

A and 

B but 

C although 

D before

Correct Ans : D

Subject : English Language 02

 
 

Q.No: 111 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct. 

She told me that it was three weeks _________________.
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A before

B ago

C while

D last

Correct Ans : B

Subject : English Language 02

 
 

Q.No: 112 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct. 

 _______________ I go to work, I jog for at least an hour.

A instead

B whereby

C before

D despite 

Correct Ans : C

Subject : English Language 02

 
 

Q.No: 113 Learning is the relatively permanent change in a person’s knowledge or behaviour due to experience. This was coined by which of the following?

A Susan Ambrose

B Richard E Mayer

C B F Skinner

D Noam Chomsky

Correct Ans : B

Subject : English Language 02

 
 

Q.No: 114 Who among the following propounded the theory of learning known as operant conditioning?

A Pavlov

B Richard E Mayer

C B F Skinner

D Piaget 

Correct Ans : C

Subject : English Language 02

 
 

Q.No: 115 The objective of using role play is —

A to evaluate dialogue writing skill 

B to promote the reading habit 

C to improve the communicative competence

D to develop acting talent

Correct Ans : C

Subject : English Language 02

 
 

Q.No: 116 What should be the quality of a good speaker? 

A Clear

B Informative 

C both clear and informative

D None of the given options 

Correct Ans : C

Subject : English Language 02

 
 

Q.No: 117 What would be suggestions of teaching English in Diverse Classroom?

A interaction session between teacher and the students should be more.

B teacher should always try to converse in English with the learner .

C teachers’ knowledge of students diverse culture informs a teacher

D
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all of the given optionsCorrect Ans : D

Subject : English Language 02

 
 

Q.No: 118 In which of the following conditions would a teacher consider remedial classes as an effective measure to ensure effective learning?

A Few students in her class have a low attention span and are unable to perform well in class activities and formative assessments.

B Few students in her class are preparing for a quiz competition and need extra inputs from the teacher to perform well in the quiz.

C The teacher missed out a few points when the topic was first taught in the class.

D None of the above

Correct Ans : A

Subject : English Language 02

 
 

Q.No: 119 Which of the following is incorrect with respect to importance of grammar?

A It ensures correct pronunciation

B It ensures correct sentence structure

C It ensures coherent expression

D It helps in learning about correct punctuation. 

Correct Ans : A

Subject : English Language 02

 
 

Q.No: 120 Which of the following classroom activity is best suited for the application of constructivism in language teaching?

A Role playing

B Black board games

C Discussion and debates

D All of above

Correct Ans : D

Subject : English Language 02

 
 

Q.No: 121
2473559

Understanding child’s behavior requires knowledge of basic concept of - 

बालक के �वहार को समझने के िलए बुिनयादी अवधाणाओ ंके �ान की आव�कता होती है –

A

Dependence and independence

िनभ�रता एवं �तं�ता 

B

Maturation and learning

प�रप�ता एवं �तं�ता

C

Masculinity and faminity

पु�ष� एवं �ी� 

D

Generalization and specification

सामा�ीकरण एवं िविश� 

Correct Ans : B

Subject : Child Developement

 
 

Q.No: 122
2474270

At the primary stage, assessment should consist of

�ाथिमक चरण म� आकलन म� होना चािहए

A

half-yearly and annual examinations at the end of the year

अ�� वािष�क परी�ा और वष� के अंत म� वािष�क परी�ा

B home assignments and class assignments every week to rate young learners under the categories of pass or fail
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उ�ीण� और अनु�ीण�ता �ेणी के अंतग�त युवा िश�ािथ�यो ंका मू�ांकन करने के िलए हर स�ाह होम असाइनम◌� �ट और क�ा असाइनम��ट

C

continuous and unstructured teacher observations to be shared with learners and parents

िश�क को सतत और अ�व��थत अवलोकन को िश�ाथ� एवं माता-िपता से साझा करना

D

formal tests and games done every week and recorded in the report card

��ेक स�ाह औपचा�रक जांच परी�ा और खेलकूद एवं �रपोट� काड� म� इसे दज� करना

Correct Ans : C

Subject : Child Developement

 
 

Q.No: 123
2474419

In Piaget’s theory, the sensorimotor stage marks the period from-

िपयाजे के िस�ांत म�, संवेिदक पेशीय चरण, कौन-सी अविध होती है?

A

1 year to 3 years

1 वष� से 3 वष� तक

B

2 years to 4 years

2 वष� से 4 वष� तक

C

Birth to 2 years

ज� से 2 वष� तक

D

Birth to 4 years

ज� से 4 वष� तक

Correct Ans : C

Subject : Child Developement

 
 

Q.No: 124
2475322

Counseling process should result in assisting the individual to become

1.Autonomous

2. Self-directing

2. Self-disciplines           

4. Egoist

Select the correct answer using the codes given below

काउंिसिलंग �ि�या का प�रणाम ��� को �ा बनने म� सहायता करना चािहए

1. �शासी    

2. �-िनद� �शन

3. आ� अनुशासन  

4. अहंकारी

सही कोड का �योग कर के सही उ�र चुिनए

A

1 and 2

1 और 2

B

1 and 4

1 और 4

C

All of the given options

िदए गए सभी िवक�

D 1, 2 and 3
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1, 2 और 3

Correct Ans : D

Subject : Child Developement

 
 

Q.No: 125
2475367

The question given below has an Assertion (A) and a Reason (R).

Assertions (A): Alterations Deficit Hyperactivity Disorder can be treated successfully with drugs.

Reason (R): In this disorder, children can pay attention very easily 

नीचे िदए गए �� म� एक कथन (A) और कारण कारण (R) िदया गया है।

कथन (A): अ�रेशन डेिफिशयेट हाइपरए��िवटी िडसऑड�र का इलाज दवाओ ंसे सफलतापूव�क िकया जा सकता है।

कारण (R): इस िवकार से �� ब�े आसानी से �ान दे सकते ह�|

A

Both A and R are true and R is the correct explanation of A

A और R दोनो ंस� ह� और R, A की सही �ा�ा है|

B

A is true, but R is not the correct explanation of A

A स� है, पर�ु R, A की सही �ा�ा नही ंहै|

C

A is true, but R is false

A स� है, पर�ु R गलत है|

D

A is false but R is true

A गलत है लेिकन R स� है|

Correct Ans : C

Subject : Child Developement

 
 

Q.No: 126
2476104

Howard Gardner’s Theory of multiple intelligences emphasises

हॉवाड� गाड�नर का म�ीपल इंटेलीज��सजे का िस�ांत ...................... पर बल देता है।

A

conditioning skills in students

छा�ो ंम� मौजूद कंडीशिनंग कौशल

B

general intelligence

सामा� बु��मता

C

common abilities required in school

िव�ालय म� आव�क आम �मताएं

D

the unique abilities of each individual

��ेक ��� िवशेष की अनूठी �मताएं

Correct Ans : D

Subject : Child Developement

 
 

Q.No: 127
2476751

TT is given against

TT िकसके �खलाफ़ िदया जाता है

A

Typhoid

टाइफाइड

T t
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B Tetanus

िटटनेस

C

Tuberculosis

�यरोग

D

Toxins

िवषा� पदाथ�

Correct Ans : B

Subject : Child Developement

 
 

Q.No: 128
2476993

A three months old baby cannot walk because

तीन महीने का ब�ा चल नही ंसकता �ो�ंिक

A

He is not matured enough

वह पया�� प�रप� नही ंहै

B

He is not motivated enough

वह पया�� �े�रत नही ंहै

C

He is not aspired enough

वह पया�� इ�ुक नही ंहै

D

He is not desirous enough

वह पया�� चाह नही ंहै

Correct Ans : A

Subject : Child Developement

 
 

Q.No: 129
2477002

Which of the following is NOT a personal factor of learning?

िन�िल�खत म� से कौन सा अिधगम का ���गत कारक नही ंहै?

A

Motivation

अिध�ेरणा

B

Interest

�िच

C

Abilities

�मता

D

Societal

सामािजक

Correct Ans : D

Subject : Child Developement

 
 

Q.No: 130
2477025

Which of the following is true for extrinsic motivation?

1. It refers to the performance of an activity in order to attain an outcome.

2. It comes from outside of an individual.

Choose the correct code:
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बा� �ेरणा के िलए िन�िल�खत म� से कौन सा स� है?

1. यह प�रणाम �ा� करने के िलए िकसी गितिविध के �दश�न को संदिभ�त करता है।

2. यह ��� के बाहर से आता है।

सही कोड चुन�:

A

Only 1

केवल 1

B

Only 2

केवल 2

C

Both 1 and 2

दोनो ं1 और 2

D

Neither 1 nor 2

न तो 1 और न ही 2

Correct Ans : C

Subject : Child Developement

 
 

Q.No: 131
2477088

The period of 6-8 years in development of child is known as

ब�े के िवकास की अविध को 6वष� से 8वष� तक के �प म� जाना जाता है|

A

Early childhood

पूव� बा� यव� था 

B

Late childhood

उ� तर बा� यव� था 

C

Boyhood or girlhood

लड़कपन या बािलकाव�था

D

None of the given options

िदए गए िवक�ो ंम� से कोई नही ं

Correct Ans : B

Subject : Child Developement

 
 

Q.No: 132
2477621

Repeated or stereotypic behaviour is typical characteristic of which mental disorder?

बार-बार या �ी�रयोटाइिपक �वहार िकस मानिसक िवकार की िविश� िवशेषता है?

A

Mongolism

मंगोलवाद

B

Hydrocephaly 

हाइड� ोसेफली (दीमाग मे पद� म� पानी आ जाना)

C

Microcephaly

माइ�ोसेफली (लघुशीष�ता)

D Autism
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आ�क� �ि�त (आिट�)

Correct Ans : D

Subject : Child Developement

 
 

Q.No: 133
2477724

Which of the following can be causes of truancy in a child?

1.Poor family conditions.

2.Inferiority complex. 

Choose the correct code out of the following -

िन�िल�खत म� से कौन एक ब�े म� गैरहािजरी (�� अंसी) का कारण हो सकता है?

1.प�रवार की खराब ��थित।

2.हीन भावना।

िन�िल�खत म� से सही कूट चुिनए –

A

Only 1 

केवल 1

B

Only 2 

केवल 2

C

Both 1 and 2  

दोनो ं1 और 2

D

Neither 1 nor 2  

न तो 1 और न ही 2

Correct Ans : C

Subject : Child Developement

 
 

Q.No: 134
2477774

Which of the following states/UTs became the first to have children’s courts (not to be confused with juvenile courts), i.e., facilities for the speedy trial of
crime against children in 2011?

2011 म� िन�िल�खत म� से कौन सा रा�/क� �� शािसत �देश ब�ो ंकी अदालत� (िकशोर अदालतो ंके साथ �िमत न हो), यानी ब�ो ंके �खलाफ अपराध के ��रत परी�ण के िलए सुिवधा, बनाने वाला
पहला रा� बन गया?

A

Delhi   

िद�ी

B

Goa    

Goa

C

Uttar Pradesh    

उ�र  �देश

D

Puducherry    

पुदुचेरी

Correct Ans : A

Subject : Child Developement

 
 

Q.No: 135
2478120

Which of the following statements is/are correct?

1. Integration was a welcome move in the direction of changing the mindset of the people towards children with disabilities

2. Integration prepared us for the implementation of inclusion

Choose the correct code
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िन�िल�खत म� से कौन सा कथन सही है?

1. िवकलांग ब�ो ंके �ित लोगो ंकी मानिसकता को बदलने की िदशा म� एकीकरण एक �ागत यो� कदम था

2. एकीकरण ने हम� समावेश को लागू करने के िलए तैयार िकया

सही कोड चुन�

A

1) only

1) केवल

B

2) only

2) केवल

C

Both 1) and 2)

दोनो ं1) और 2)

D

Neither 1) nor 2)

न तो 1) और न ही 2)

Correct Ans : C

Subject : Child Developement

 
 

Q.No: 136
2478377

Which of the following is NOT a category of academically dysfunctional children?

िन�िल�खत म� से कौन अकादिमक �प से अ�म ब�ो ंकी �ेणी नही ंहै?

A

Slow learners   

धीमे सीखने वाले िश�ाथ�

B

Underachievers   

कम उपल�� हािसल करने वाले ब�े

C

Average learners   

औसत िश�ाथ�

D

Children having special learning disabilities   

िवशेष सीखने की अ�मता वाले ब�े

Correct Ans : C

Subject : Child Developement

 
 

Q.No: 137
2478453

A, a child of class ix, has a good mental ability. He, however, feels tremendous pressure from the huge over-expectation of his parents and finds it difficult
to rise up to their expectation. There is every chance of his becoming a ----------------------.

क�ा नौ के एक ब�े की मानिसक �मता अ�ी है। हालाँिक, वह अपने माता-िपता की अ�िधक अपे�ा से अ�िधक दबाव महसूस करता है और उनकी अपे�ा पर खरा उतरना मु��ल पाता है। उसके -
---------------------- बनने की पूरी संभावना है।

A

Creative Child

रचना�क ब�ा

B

Slow learner

धीमा िसखने वाला

C

Underachiever child

कम उपल�� �ा� करने वाला ब�ा

D Child with learning disability
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सीखने की अ�मता वाला ब�ा

Correct Ans : C

Subject : Child Developement

 
 

Q.No: 138
2478935

Under which layer of the Bronfenbrenner’s Ecological System does the institutions such as parent’s workplace, the neighborhood, and school board come?

�ो�ंफने�ेनर की पा�र��थितक �णाली की िकस परत के तहत माता-िपता के काय��थल, पड़ोस और �ूल बोड� जैसी सं�थाएं आती ह�?

A

Microsystem

माइ�ोिस�म

B

Mesosystem

मेसोिस�म

C

Exosystem

ए�ोिस�म

D

Chronosystem

�ोनोिस�म

Correct Ans : C

Subject : Child Developement

 
 

Q.No: 139
2478994

Which of the following social criterion of a family influences the child’s interaction with society? 

i. Religion 

ii. Caste 

iii. Finances

प�रवार का िन�िल�खत म� से कौन सा सामािजक मानदंड ब�े के समाज के साथ अंतःि�या को �भािवत करता है?

i. धम�

ii. जाित

iii. िव�

A

Only i

केवल i

B

Both i and ii

i और ii दोनों

C

Both ii and iii

ii और iii दोनों

D

All i, ii and iii

सभी i, ii और iii

Correct Ans : D

Subject : Child Developement

 
 

Q.No: 140
2479228

Following Pavlov’s lead, who among the following conducted the famous experiment in the case of Little Albert?

पावलोव के नेतृ� म� िन�िल�खत म� से िकसने िलिटल अ�ट� के मामले म� �िस� �योग िकया?

A

Lawrence Kohlberg

लॉर��स कोहलबग�

L V t k
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B Lev Vygotsky

लेव वायगो�की

C

Jean Piaget

जीन िपयाजे

D

John B. Watson

जॉन बी वाटसन

Correct Ans : D

Subject : Child Developement

 
 

Q.No: 141
2479644

Which of the following is not the correct objective of pre-school?

िन� म� से कौन सा �ा���ा-िव�ालय का सही उ�े� नही ंहै?

A

To prepare children for primary school in conducive environment.

�ाथिमक िव�ालय के िलए अनुकूल वातावरण म� ब�ो ंको तैयार करना

B

To enable children to develop motor skills by practicing different kinds of activities for fine motor and gross motor development.

ब�ो ंको ठीक मोटर और सकल मोटर िवकास के िलए िविभ� �कार की गितिविधयो ंका अ�ास करके मोटर कौशल िवकिसत करने म� स�म बनाना

C

To help children develop social and emotional skills for healthy living.

ब�ो ंको ��थ जीवन के िलए सामािजक और भावना�क कौशल िवकिसत करने म� मदद करना

D

To encourage children to concentrate on textbooks and learn the full syllabus.

ब�े को पा�पु�क पर �ान क� �ि�त करने और पूरा पा��म सीखने के िलए �ो�ािहत करना

Correct Ans : D

Subject : Child Developement

 
 

Q.No: 142
2480089

Which of the following involvement is required by the teacher to help learners in emotional development?

संवेगा�क िवकास म� िश�ािथ�यो ंकी मदद करने के िलए िश�क को िन�िल�खत म� से िकस भागीदारी की आव�कता होती है?

A

Objective

उ�े�

B

Subjective

���परक

C

Both objective and subjective

उ�े� और ���परक दोनों

D

Neither objective nor subjective.

न तो उ�े� और न ही ���परक।

Correct Ans : C

Subject : Child Developement

 
 

Q.No: 143
2480096

Which among the following is not correct regarding emotional development during early childhood?

बचपन के दौरान संवेगा�क िवकास के संबंध म� िन�िल�खत म� से कौन सा सही नही ंहै?

A Emotions such as anger, fear, jealousy, curiosity and envy develop during early child hood.
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बचपन म� ही �ोध, भय, ई�ा�, िज�ासा और ई�ा� जैसी संवेगंए िवकिसत होती ह�।

B

Studies prove that bright or intelligent children have less curiosity emotion than intellectually poor children.

अ�यनो ंसे सािबत होता है िक होनहार या बु��मान ब�ो ंम� बौ��क �प से गरीब ब�ो ंकी तुलना म� िज�ासा की संवेगंए कम होती है।

C

Emotional development at early childhood provides a base for later emotional development.

बचपन म� संवेगना�क िवकास बाद की उ� के संवेगना�क िवकास के िलए आधार �दान करता है।

D

Parents, school and peers play an important role in the development of emotions.

संवेगना के िवकास म� माता-िपता, िव�ालय और सहपाठी मह�पूण� भूिमका िनभाते ह�।

Correct Ans : B

Subject : Child Developement

 
 

Q.No: 144
2480341

Choose the most appropriate option.

A. According to Gagne's differentiating model of giftedness and talent (DMGT), "Giftedness is the possession and use of untrained and spontaneously
expressed natural abilities in at least one ability domain to a degree that places an individual at least among the top 10% of age group peers".

B. According to this theory grades and test scores do not provide an accurate picture of a student's strengths and abilities.

सबसे उपयु� िवक� का चयन कीिजए।

A. उपहार और �ितभा के गै�े के िवभेदक मॉडल (DMGT) के अनुसार, "उपहार कम से कम एक �मता के ��े� म� अ�िशि�त और सहज �प से �� �ाकृितक �मताओ ंका धारण और �योग है जो
एक ��� को कम से कम शीष� 10% आयु वग� के सािथयो ंम� रखता है"।

B. इस िस�ांत के अनुसार �ेड और टे� �ोर एक छा� की ताकत और �मताओ ंकी सटीक दशा �दान नही ंकरते ह�।

A

A is true, B is false

A स� है, B अस� है।

B

B is true, A is false

B स� है, A अस� है।

C

Both A and B are true

A और B दोनो ंस� ह�।

D

Both A and B are false

A और B दोनो ंअस� ह�।

Correct Ans : A

Subject : Child Developement

 
 

Q.No: 145
2480373

Which of the following practice of Mrs. Sushma in her classroom shows that she is against the concept of gender-bias?

�ीमती सुषमा की अपनी क�ा म� िन�िल�खत म� से कौन-सा अ�ास दशा�ता है िक वह ल��िगक भेदभाव की संक�ना के िव�� ह�?

A

Appreciating the girl's project just by appearance.

िसफ�  बा�ाकृित से लड़की के प�रयोजना की सराहना करना।

B

Asking easier questions to the girl student.

छा�ा से आसान �� पूछना।

C

Reviewing and commenting on the project work of the girls by checking it.

लड़िकयो ंके प�रयोजना काय� की जांच कर समी�ा और िट�णी करना।

D

Giving less attention to the girls. 

लड़िकयो ंपर कम �ान देना।
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Correct Ans : C

Subject : Child Developement

 
 

Q.No: 146
2480629

Toy age is related to which stage?

�खलौना उ� िकस चरण से संबंिधत है?

A

Early childhood

पूव� बा�ाव�था

B

Babyhood

बचपन

C

Late childhood

प� बा�ाव�था

D

All of the given options

िदए गए सभी िवक�

Correct Ans : A

Subject : Child Developement

 
 

Q.No: 147
2480684

Child-centered education includes-

बाल क� �ि�त िश�ा म� शािमल ह�-

A

Hands on activities for kids

ब�ो ंके िलए व् यवहा�रक गितिविधयां

B

Learning in restricted environment

�ितबंिधत वातावरण म� अिधगम

C

Learning alone

एकाकी अिधगम

D

All of the given options

िदए गए सभी िवक�

Correct Ans : A

Subject : Child Developement

 
 

Q.No: 148
2480746

Mobility and Orientation training is associated with

गितशीलता और अिभिव�ास �िश�ण िकसके साथ जुड़ा �आ है।

A

Students with hearing impairment

�� �ीणता सिहत छा�

B

Students with mental retardation

मानिसक मंदता सिहत छा�

C

Students with visual impairment

�� �ीणता सिहत छा�

D Students with learning disability
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सीखने की िवकलांगता सिहत छा�

Correct Ans : C

Subject : Child Developement

 
 

Q.No: 149
2482177

Microsystem, Mesosystem, Exosystem, Macrosystem and Chronosystem are parts of the theory propounded by:

सू��णाली, म��णाली, बिह��णाली, वृहद�णाली और काल �णाली िकसके �ारा �ितपािदत िस�ांत के भाग ह�:

A

Maslow

मा�ो

B

Vygotsky

�गोट�ी

C

Bronfenbrenner

�ोनफन�ेनर

D

Piaget

िपयाजे

Correct Ans : C

Subject : Child Developement

 
 

Q.No: 150
2482214

Which among the following is not the purpose of developmental tasks?

इनम� से कौन-सा िवकासा�क काय� का �योजन नही ंहै?

A

They act as guidelines to help parents and teachers to know what children should learn at a given age

वे माता-िपता और अ�ापको ंको यह जानने म� सहायता देते ह� िक िकसी आयु िवशेष म� ब�ो ंको �ा सीखना चािहए

B

Developmental tasks serve as motivating forces for children to learn what the social group expects them to learn at that age

िवकासा�क काय� ब�ो ंको वे चीज� सीखने के िलए �ेरक बलो ंके �प म� काय� करते ह� जो सामािजक समूह उनसे उस आयु म� सीखने की अपे�ा रखता है

C

Developmental tasks tell parents and teachers what will be expected of children in the immediate and remote future

िवकासा�क काय� माता-िपता एवं अ�ापको ंको बताते ह� िक िनकट एवं सुदूर भिव� म� ब�ो ंसे �ा अपे�ा होगी

D

Developmental task increases the intelligence of children

िवकासा�क काय� ब�ो ंकी बु��म�ा म� वध�न करते ह�

Correct Ans : D

Subject : Child Developement
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